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POST OF DISTRICT EDUCATIONAL OFFICER (GROUP-I.C SERVICES) IN SCHOOL
EDUCATION DEPARTMENT INCLUDED IN THE TAMIL NADU SCHOOL

EDUCATIONAL SERVICE
1. Before the second battle of Panipat, in Delhi had assumed the title of ‘Raja
Vikramyjit'.
a. Bairam khan b. Salim Khan c. Hemu
d. Kiya khan e. Answer not known
@rewiLmb ureiul Cummsb@ (e GIsvedluiled GTEMILD  LDGHIEUIT  ‘JregT  eil&ybedls’
oIIB LILL S0 gBmIs ©emeurLmiT
a. eOLIIID &ITest b. FeSib &mest c. Gamp
d. dwmr smesr e. alewL G flwelsvensy
2. accepted Akbar’s Din-i-Ilahi
a. Birbal b. Mansingh c. Toder Mal
d. Tansen e. Answer not known
Si6Uflar Hail Qevranlenu! gmmis OlsTeTL T
a. Uirumed b. wrefE c. BzxmLiomed
d. srergen e. alewL O flwaisvenev
3. Iswar Chandra Gupta’s remarkable journal was the training ground of many
distinguished writers.
a. Nil Darpan b. Amrita Bazarika c. Samvad Prabhakar
d. Kailasham e. Answer not known
FoOeUT  FhHAHT  @USTalear GBI HHHS  uSFHMEHma Uev  Usboumm
WS TenTHefe LUIBFoHHeOTS S HHDHIHI.
a. [He0 SHiTLIedr b. oufiter uregmidasT C. FeuTs LyumssT
d. ewaseoraid e. alewL OFfwailsdensv
4. According to the view of B.C. Pal was the Prophet of Indian Cultural
Renaissance.
a. Bankim Chandra b. Aurobindo Ghose c. Hem Chandra Banerjee
d. Navin Chandra Sen e. Answer not known
.8, umeler &(h&d ey OhFHWw HeoTFFTT oBIeOTFFUNT ST dwmeuni.
a. UmSIbahagT b. oaibsCsmerd c. Gamb gHay uTenTd
d. pefer shdly OFei e. alewL OFfwailsdensv

5. “In a sense Akbar might be considered to be the Father of Indian Nationalism. At that
time when there was little nationality in the country and religion was a dividing Factor.

1|Page APPOLOSTUDY CENTRE PH: 044-24339436, 42867555, 9840226187
http://www.appolosupport.com/




APPES 1)

Y RFHTRT
SHENNAL

Akbar placed the ideal of a Common Indian nationhood above the claims of separatist

religion”.
Who said the above statement?
a. Jawaharlal Nehru b. Motilal Nehru c. Mahatma Gandhi

d. Subash Chandra Bose e. Answer not known

“Oumuihgd  UTTHSTED, SiGUmT  BhHu  CHAwsHHaT SHHOSWLTEDS &HHSH  Ceuemi(HLb.
SIUHML U BTeLSHH 60 CHFUILBMI GHOBUTHALD, LB BT ML LIeMaUBHHID FHHWTHALD
BmbaHH. SHUT WWHI LfelmaeuTshiesmensd Smeshd, SHHH BLHHo bdHu Cxpflwid
o1 (LpeTGaTTiguImedT OIITGI LOGTLILITEITENLOEMUI  (LPETeDRUSSHTT 6T6dIml Fnpluieuf  wimir?

a. @euamitevmed Gh(H b. Gurdeomed Gm(H C. LD&HTHIOTSH HMH

d. surey gpHLHr Gumerd e. alewL OHfNwaleenew

6. Read the following passage and answer the question whose religious view is expressed
here:
“If I found myself entirely absorbed in the service of the community, the reason behind
it was my desire for self realisation. I have made the religion of service my own, as I felt
that God could be realized only through service and service for me was the service of
India. Because it came to me without my seeking, because I had an aptitude for it”.
a. Swami Vivekananda  b. Mahatma Gandhi c. Rabindranath Tagore
d. Rajaram Mohan Roy e. Answer not known
Uaeupd  uSHmull LSS, S0 wrmmLw  SLumTenel  OeuaiiuBaBEH  elaILImSHH
GnB6YLD.
‘I'_F)IT[IG}tf[&I gepsd Baameuulled (PAPMWITS FHULIQBHSTE) DSHBGHES STJID &Sl 2 60oNTHEVISHEHT6T
aergdl  alpUuGL. Ggemeuulest cpeold  OLBOWL FHLYMT 2 6ol  (LPIQUILD  6TEIIMI  [BITEN
o _aibHTev, Bl Coeneu 6B HHMS 6l 6FThs HTHHCearer. aab@Gd Coameu
aaiugl @bHw  Camel. gLeiaipTed BT MBS CHLMLGn oI  eI@ILD  UHSHI.
SMNID H&HF SOl EBbHSHSI.
a. seut alGeusrarbaT b. warswT SHTHS C. QUbFHIBTSH SHTET
d. &yregmymb Guoraes grul e. afewl Gzflwealsdens

7. Name the epic poem written by Padmagupta the court poet of Paramara empire
a. Nava - Sahasankah - Charita b. Naisadhacharita
c. Trikalingadhipati d. Kalingattuparani

e. Answer not known
ugomgl - Guprdlet  oFmeud SHalehT UHWw GUSTaler sTalwd Salmpule GuiLmFs

G NRICE:S
a. pey - Famgms -FlHT b. eparFisd c. Ffsainsgsiug)
d. sedmssHHIiLTeni e. alewL O flwealsdensv

8.  Who among the following published the first newspaper in English Language in India?
a. Gangadhar Bhattacharya b. Rabindranath Tagore
c. James Augustus Hicky d. Ram Mohan Roy

e. Answer not known
WetteupueuTadelerr @haHwmaled (pHe0 ymisler CFuIFHHTemen GeueMuil LeuT wimi?

a. sEIBTHT Ul LrFFmmur b, @nibHImre SHrami C. Bmiberd ©IBEOL 610 Qi)
d. gmb Gomaser Fmul e. alewL OxfNwaledenew
9. Assertion (A): Paninian Sanskrit though simpler than vedic is still a very

complicated language.
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Reason (R): Every beginner finds great difficulty in surmounting Panini’s rules
of euphonic combination (Sandhi) the elaboration of tendencies present in the language
even in vedic times

a. (A) is true but (R) is false

b. Both (A) and (R) are true; and (R) is the correct explanation of (A)

c. (A) is false; (R) is true

d. Both (A) and (R) are true; but (R) is not the correct explanation of (A)

e. Answer not known

apm (A): ureileflwe FwebdBsL, GupdHms il  Wsabd eeflmwwrs  EHbSTEID
SIF 0BaD Fldbseomer GLOTHWITEGLD.

srgewid (R): @eiGeurm Osm_ssssmnT, utealeiulsr Qs awses Cosibamas aldsmer
GuoBOFmeTaugled OB FFdhengd GLoBO\HT6ITE6ImBeuIT.

a. (A) sl spemed (R) seumi

b. (A) wBpd (R) sy Gyewibo &f; wBpd (R) eewg (A)-Ber aflwumer alsnsbsonELd.
c. (A) soup oo (R) &

d. (A) vppw (R) spdw @yewi af; suemsd (R) eeiug (A)-@enr sflumer allemdssiosen
e. alemL OFfluaisvensv

Which of the following resulted due to the frequent famines in British India?

a. Retarded Agricultural Growth

b. Mass migration of population from Famine stricken regions

c. Serious tensions between the zamindars and peasants

d. Utter lack of agriculture surplus

e. Answer not known

SpsewiL Ulpweded LIflLges @haHumelsd D9HEHY LEhFD gBULLSHST alenemauTd [bHLbSdl
61601601 ?

a. afleusmw euen&FHAulled LieiTenienL 6 eJMLIL L

b. UEhFSHFHTEL LTHGSHIULL LGHBeMed B HHS! 10HH6T GUBLeTaled S 1D QUUITHSTTHEN
C. WOAIHTTHEHSHSWD aleugnuisens@Hld e Cul SHemwwTeT LUSBBLD giLL L S

d. efleugmw 2 ufluled LBBTHESMB GHBLIL LS.

e. alewL OFMwealedensv

Read the following passage and answer to the question based on the passage.

Passage 1

Mahatma Gandhi said, “I deplore the criminal indifference of parents who keep their
daughters utterly ignorant and illiterate and bring them up only for the purpose of
marrying them off to some young man of means”.

Select the best implied from the following regarding the afore-said passage.

a. Strong measures need to be taken by parents for the overall progress of their
daughters

b. The working condition of young men needs to be improved for marrying women

c. The working condition of young women needs to be improved for marrying men

d. The women facing dowry problem

e. Answer not known
LA CarBHSLILIL (HeiTern U FHemul INEEE Y] DISHSMGLILINL U660 GaL_sLILL (HeiTer
BxoeNal®Ehdh@ alenL 6.

usa 1
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STHOT HMHFH FmPusTeusm “Fe0 FTHTT6T BeneTEhTHEHHHSH H(HLOID CFUIH OBTHHGLD
CrTesaHHMITHH SHHGB6ET  WFH6THMT  (PBYlsld  SPfwmend  WBHID  UlILslelede0TsH
Bemeoulled emeudb@Hd GUBGBTRET GHBBD FMThEH Sl FWSHHBETE  U(HbHHIS GBI .

Guopaeni.  LUSHHUIHHSH 2 (HUTeT SHDHHMILMauHeile0 FBhHeH LOMBLPHLOTET  aleDL el
BxHOHBHBMLD.

a. FMH6eT aeseiea UG OCrshs auaTEfedHs CHameuwmesr &HD HL6UIQHNBHBHMENLI
QuBGLIT 61(hdHd Gouemi(BHLD.

b. Quewisemens Hmwend CFLIMNSBHTS BemenehTseflle GFweUT. G BHewew (LPaTGaIBBLILIL
Bouemt(BHLD

C. BmenEhTeemen H(Hewild OCFWINSBHTHL CLewiseflear CFwedLTL G Henev (LPeTGarBBLILIL
Bouemt(BLD.

d. Quewiaell auIHL Fenewt LNJFHDRIBM6N  Fha) b MTaHe6N

e. alewL Oxfweailedensv

Which of the following is incorrectly paired?

A. Kavalgar 1. Police Officer

B. Talara 2. Superintendent

c. Begara 3. Watchman

d. Senateova 4. Village Accountant

a. (B) and (C) b. (A) and (D) c. (A) and (B)

d. (B) and (D) e. Answer not known

Leiteu(meuaiouBmled SHeummd EenenrdbaLLL (heiTen Senenisamensd BHih0s b dHaLD:
A. smeucosT 1. Gumeded o1l

B. seomym 2. &6NISHT 60T LILITETT

C. Guamym 3. @meueumerl

D. Gsen@LGwimeur 4. &HPADS SHe0THSTENIT

a. (B) wmpib (C) b. (A) wspiw (D) c. (A) wppibd (B)

d. (B) wimibd (D) e. el Gxfluaisdeneo

Choose the right matches among the following:

1. The Forty - The Chalisa

2. Razia Begum - Ruknuddin

3. Diwan-i- ariz - Finance Minister

4. Balban - Barids

a. 4 and 3 are correct b. 2, 3 and 4 are correct c. 1 and 3 are correct

d.1,2 and 4 are correct  e. Answer not known
S GUIUILauppled gflwmer QuUThGHShISmend CHiTe OCFulIsm:

1. ..Gumm’ig - Fellgm

2. @ydlwr Gusld - (HEBHIGH60

3. Heureir &y gyfled - B DiewFFT

4. UTELLIGIT - umflilend

a. 4 wBpb 3 & b. 2, 3 w@pd 4 & c. 1, wBpb 3 &
d. 1, 2 wBpd 4 & e. alewL OFfwailsdensv
Match the following:

Historians Books

A. Alberuni 1. Qiran - Us - Sa’Dain
B. Minhaj Siraj 2. Tarikh - I - Firoshahi
C. Amir Khusrau 3. Tabaqat - I - Nasiri
D. Barani 4. Tarikh - I - Hind
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A B C D
a 4 2 3 1
b 1 2 3 4
c 2 4 3 1
d 4 3 1 2
e. Answer not known
CUITHSHSI:
eugeommmTE w6l L& SHBMIB6I
A. 91e00UemHe 1. &yeir - 2 a3 - FOFHule
B. Weiagy Fyrey 2. ifld - § - GuGrTervaTd)
C. a1t &ayg 3. HUTHS - & - BT
D. ugewf 4. s1id - & - aflbs
A B C D
a. 4 2 3 1
b. 1 2 3 4
C. 2 4 3 1
d. 4 3 1 2
e. Answer not known
The Maitraka clan established a kingdom in Gujarat with its capital at which
soon became a seat of a learning and culture.
a. Malave b. Valabhi c. Gauda
d. Kamarupa e. Answer not known
MSHTHT GV GHRITHHEL QH DTNF DIHET  &HEN6VHBT 60N 60 BHipelwgl,
oI5 alenyaled SBBEL WBBID HEOTFFMIHSH 6T SL 0TS OIS
a. LomeTeuT b. susveval c. GaermLm
d. smoemum e. alewL O flwaisveney

Which is the florist region of India which has the species of Camamus vininlies and
Camamus?
a. Ganga Plain b. Deccan Region c. Malabar Region

d. Andaman - Nicobar Region  e. Answer not known

&TLomoery  alefernmsverd BHID Gsowed @emisemend BTN @hHwTale LoHmLL LG
8g1?

a. shMaF FLobeuer b. sésran (LFGsFD) c. weour LyGshaid

d. spswrea-psstur Mp8ssid e, el Gafuaisdensv

Sir. Herbert Risley classified Indian races into types

a.5 b.7 c.3 d. 4 e. Answer not known

g1 Qamiu’ fleved, @pHHUI EeTmisemen auenSHeNTHL LflggieTeni.
a. 5 b. 7 c 3 d. 4 e. alewL Oxfwaledenew

Which of the following statements are true about India from the following information
which one is correct?

(i) The World’s second most populous country.

(ii) The fifth largest country in area.

(iii) In 2011, population density of 382 persons per sq.km.

a. (i) only b. (i) and (iii) only c. (i) and (ii) only

d. (ii) and (iii) only e. Answer not known
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Carhsbaiul(Betemeupnled Fflwmer uHewevd CaHTHOSHBHdHIaID @bSHwmemeuls uBpiul LleTeuhHd
FBmIFHerile0 elemeu Fflwimereneu?

(1) 2_ovdleT BJewiLTaugl boHHL OHTend BT TGLD.

(i) urliiwenaled MbFHTOUH CQUlu HTLMESLD.

(i) 20118uD SLEwTY6D, HHL OFHTnd SHILTHH @b FaHIT HGe L (HdHE 382 GUT SESLD.
a. (i) wl@w b. () wmmid (iii) L G c. (i) wmmib (il) wr G

d. (i) w@pid (i) w' @D e el Osfwalsdened

The term used for the event, which causes death and injuries due to sudden rush of
crowd is

a. Stampede b. Procession c. Riot

d. Natural disaster e. Answer not known

SHLULSHGT Pl  OUFTSHSITL  LOJ6WID  LOBHID  HTWRIGSMET  GBUBSHHID  HoHDaHEGLI
LweUGSSLILGLD G&Ted

a. lyeir HmGevrm L 1b b. Guiewni C. S6V6U]LD

d. Bumpmas Guyifeser e. alewL OxNwealeoenev

Find the mismatched linguistic group and language:
(i) The Indo - European family = - Arya
(

ii) The Dravidian family - Dravida

(iii) Austric Family - Kannada

iv) Sino - Tibetan family - Kirata

a. (i) and (ii) only b. (ii) and (iii) only c. (iii) only
d. (i), (ii) and (iv) only e. Answer not known

Qmfl GuweaLer HeuBresll CUTHSSLILIL(BeiTen GLoTemuIs STewis.

(1) @pswu—xCrmiiu G®wuLD - ST

(i) FHgmal, GHWwULD - FlgmailLLb

(i) ool fls GGLLULD - BHSISILLD

(iv) FGemm-Houshaw & BHLULD - BT

a. (i) wBmb (i) w G b. (i) w@pnb (iii) w G c. (iii) (G

d. (1), (di) wBmid (iv) w BGb e. alewL  OFflweisdensv

Arrange the population density in descending order based on 2011 census.
1. Bihar
2. West Bengal

3. Kerala

4. Uttar Pradesh

a.4,1,2,3 b.1,2,4,3 c.2,1,3,4
d.1,2,3,4 e. Answer not known

2011, w61 OFHTNdH HeIHOBHHLIIGT DlgliLienL_ulled &HH6T CHTND DILTHIMU EBEIG
aflenguied auflengILBHHIS.

1. st

2. GuoBE eumisTeND

3. Gayenm

4. o SailgGahaid

a.4,1,2,3 b.1,2,4,3 c.2,1,3,4

d.1,2,3,4 e. alewL OHfwaledenew

Which of the following statement/s is /are true of the Agriculture of India?
i. India is the world’s largest producer of tea, sugarcane and some oil seeds.
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ii. The sources of “Green Revolution” have made India self-sufficient in food.

a.ionly b. ii only c. Both i and ii

d. None of the above e. Answer not known

&8 CaThdslul (heTeneeuBmeT GbhaHwmale eleugmuid OFHTLTUTET FAWTET  FBBIGSH6IT
eTemeu?

(1) 2 _esaaled @hHwr Gzxpulemev, &SH(HIDL WLBBID elewiCemul alendHden 2 MBS uiled
(WHUL LD S SHBBII.

(i) usemwll Yyl duler ewpeoond GbHWT, 2 ewiey 2 BuUHHUleD Heelenme CLBMICTSH.

a. (i) w (@B b. (i) wl @G c. (1), (i) s Byewi(Bid
d. GuBsmpPlweuBpled ergHieD Se0enev e. alenL OFflwaisoemnso

The main land of India extends between
a. 8°4’ North Latitude to 37°6” North latitude
68.7" East Longitude to 97°25’ East longitude
b. 8°4’ North Latitude to 36°6” North latitude
68°7" East Longitude to 97°25” East longitude
c. 9°3’ North Latitude to 37°5” North latitude
68°7" East Longitude to 97°25" East longitude
d. 8°4” North Latitude to 37°6" North latitude
68°7’ East Longitude to 95°25" East longitude
e. Answer not known
@bFHwraler (LpHaSiul BleolILGa B G SImLbHSl6TeN S
a. 84 auLd@ oI sCimd (WHe 37°6° aLdHE I sCrmd euamyuievid
68.7 AwdHE HTEaCIME (IpHeL 97725 BdE HTeaCrens el LFaiu|eTernet
b. 8°4’ e dE oI FCima WHd 36°6° &G D FCIMmS U]
68°7 s HThd Crens (WHev 97°25° HwdHE HTes Crens alemy
C. 9°3° aLsE oI FCImas WHev 37°5 el dbE I FCIMs auM]T
68°7 Hpd@ HTdmad Crewsds (WHed 9725 HwdE Hiss Crens ey
d. 68’4’ eu sE oI FCrmwad 1WHed 3725 el dG SILFCIma auamyuisibd
68°7 Hpd@ HTbmd Crensd (PpHev 95°25° HpdE SHThs Crens euemIUlID
e. alemL OFfluiaisdensv

The “Yanadi’ tribal people of India live in the state of India
a. Tamil Nadu b. Karnataka c. Andhra Pradesh
d. Kerala e. Answer not known
‘wresny’ eTHIEMILD @HAH U LIPEIGY EEDHE6T 6UT(PLD  LOTH 60D
a. sOPHTG b. spTLTH c. bHniyBsaid
d. Gasyenm e. alowL Oz flwalevensy
Match the following:
Dams State
A. Obra Dam 1. Maharashtra
B. Tawa Dam 2. Uttar Pradesh
C. Hirahud Dam 3. Madya Pradesh
D. Kadakwasla 4. Orissa
A B C D
a. 2 1 3 4
b. 2 3 4 1

C. 1 2 4 3
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d. 3 1 4 2

e. Answer not known
SIPHETL BB QLIT(HIHSHIS.

HTHCHSHHLID LOMTHIELMRI 61T
A. quim BTHCxHdHsID 1. L&TITAUQYT
B. smeur pirg8sésid 2. o S5ATNCxHaD
C. smeur pirs8sésD 3. wHHW LgCmhad
D. sLésangen BTeHCHEHW 4. gilgm
A B C D
a. 2 1 3 4
b. 2 3 4 1
C. 1 2 4 3
d. 3 1 4 2
e. alemL OFfwalsdemnesv

According to the NITI Aayog, CWMI, 2018; 21 Indian Cities may face Day Zero in
coming years. Day zero refers to the day a place is Likely to have

a. No Drinking Water of its own b. No water in the cities

c. No water for industrial utility d. No discharge from industries

e. Answer not known

NITI Aayog, CWMI, 2018 @6t L, eumbD SpewiBEefed 21 SbHFHU  BEHIHISET [HI6l
UBBwHms  aFHiTosmeiensd bl  Brel. LMmeuild e6aiugs b BLHIar  BHSH
BTEN6T & GBS S BSI.

a. CemhaloTe GYDHT V60T HT6lT

b. parhiseied Hewrenfi Eevevrd [H6iT

C. QamPed HMBHEHEHSG SH6WI6wIT E60E0TSH HT6IT

d. GsmPBaTemevseiled Bhbal 6hd SWaBHD CeuelGUBTS HIe

e. alemL OFfluaisvensv

Match correctly the awards with the Corresponding Recipients:
A.B.B. Lal 1. Bharat Ratna

B. Nirpendra Misra 2. Padma Vibhushan

C. Subbu Arumugam 3. Padma Bhusan

D. Pranab Mukherjee 4. Padma Shri

A B C D
a. 3 4 2 1
b. 2 3 4 1
C. 1 2 3 4
d. 4 3 2 1

e. Answer not known
Weteupd al(hend Sibd alhmdHll CUBBaGITG CUT(HHSHIS.

A. 19.9. eumed 1. umyg JoHeort
B. pitubdy werdym 2. uH ALeg6sT
C. aliy mipsid 3. USID Lergest
D. dgewmy (st 4. ugw 1j

A B C D
a. 3 4 2 1
b. 2 3 4 1

C. 1 2 3 4
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d. 4 3 2 1
e. alewL OxMweailedensv

The first satellite to enter into the Sum’s atmosphere is

a. Solar Orbiter b. Voyager - 2 c. Parker Solar Probe

d. Solar - C e. Answer not known

G euefewIuHHM@GH6T HIMWHS (PHV CFWIBeNHGHT6I

a. GameorT gymlLm b. eurw@gmT - 2 C. umirdba Ggmeom™ LIGTML
d. Ggmeunt - C e. alewL OQFfwalsdensv

Match the Column-I (Archaeological Sites) with their districts in Column II

Column -1 Column - II
A. Kodumanal 1. Thoothukudi
B. Porunthal 2. Villupuram
C. Tiruvakkarai 3. Erode
D. Adichanallur 4. Dindigul
A B C D
a. 1 3 2 4
b. 3 4 2 1
C. 3 4 1 2
d. 1 2 4 3

e. Answer not known
afleng [60 omamid OFTevedlwed Uie GBLmsemen euflws [0 2o oo SleuBpses
LOTEUL L MIS@HL63T  CUIM(hSHaIeh

aiflens - 1 afleng — 11

A. Q&rBLoenTen 1. aMHHEHG

B. Qumrmpged 2. el

C. Fmeussamny 3. wCym(h

D. si8Famedourit 4. FHewihdbame0
A B C D

a. 1 3 2 4

b. 3 4 2 1

C. 3 4 1 2

d. 1 2 4 3

e. alewL GFMwealedensv

Who among the following is/are the beneficiaries of the ‘Education at Home” Scheme
launched by the Government of Tamil Nadu?

(i) Students studying in Class XI to XII

(ii) Student studying Class IX to X

(iii) Students studying in Class I to VIII

iv) Students studying in Per School

a. (i) only b. (i) and (iii) only c. (iii) only

d. (iv) only e. Answer not known

SpdHaTemiLuBpIeT SIS DIFTe0 P PSLILGSSILLL  ‘Bsveuld Bppd Heval’ SHl L &6
Lwestmerla6iT wimeuit?

(1) UM (LPHEO LIGTENTERILTD UG GUDT LIg&h@ELID LOTERIGITHEN

(i) @eTugl (PHeL USSHTD UGLIL] 6UeD] LIQHGD LDTEmTeUTSH6IT

(1) Q&W (PH6L LD UGLL 6UeDT LIQSHGLD LOT6mT6UTHEIT
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(iv) wpeneowlT Lemefufled LIgdh@EID LDT6RIAITSHIT
a. () wl@w b. (i) wmmub (ii) G c. (iii) L B
d. (iv) w’ @ e. alewL Oz flwalevensy

Which among the following statements is not associated with Women in Engineering,
Science and Technology (WEST) initiative?

a. The WEST initiative is launched by ministry of women and child development

b. WEST initiative will provide training for women with Science and Technology
Backgrounds

c. WEST is launched to inspire girls and women to seek and remain in engineering,
science and technology related education and career

d. Under WEST a digital consortium for discussion has been established

e. Answer not known

Ueteumpd  gaBmidbdeiev  “Gumpiuiwed, oflalwed wBBID OFHTHd HILUSHHeO CuemETHeT’
(WEST) eteii3 (pwusdlujeir QT ledeorsgl 61517

a. WEST Quemise wBpIb @Lbenssen GubUTL (B DIenoFFssHSmed OHTL RIS L G

b. WEST gilalwied wipid O mbleomi b Leereni Oameni GRS EHHE

C. Ouewisel OBEID Ouew  GWHMSHHeT Oumuied, opfalwed WBBID  OHTHEOHIL LD
OamLfumenr  seval  BEID - CG@mflevdeailed  OHTLABH MBS easGaliugBstes WEST
OBTLHISLIULL G

d. WEST-&1 &1p S6eubsHienguiTL euibhsmel @0 9L L60 dnl L el 2 (heuTdsaliur [Hei

e. alewL OFfwalsvemesv

Assertion (A): Under Export Promotion of India, interest equalization scheme was
formulated.
Reason (R): Exporters are getting, the benefits in the interest rates being

charged by the banks in their export credits.

a. (A) is true but (R) is false

b. Both (A) and (R) are true;

c. (A) is false but (R) is true

d. Both (A) and (R) are true and (R) is correct explanation of (A)

e. Answer not known

ampp (A): Spdwuneler  gBpodow  eus@Geldss ey  FOSLUBGSDHIHO ~— HLULLD
2 (HUTHSLILL L GI.

snyenid (R): gBpiogdsten  sLeidefer  Wamar ey  QFHTLAUTET  [HETENLOSEME
MBI WITENTH6NT LD 6T360TT.

a. (A) ereiiug sfl guemed (R) ereiiug) sHeum)

b. (A) wpmpiw (R) Beneu Byewid sflwimerg

c. (A)eaiug goum wppid (R) eeg sflwmerg

d. (A) vBpiw (R) Bemeu Syewibo &M wmpid (R) eteiug (A)uflesr sflwimer allendasid

e. alewL OGFMweailsdensv

Which Biopesticide has been proven to be very effective in controlling locusts?
a. Metarhizium acridum b. Bacillus Thuringiensis
c. Trichoderma viride d. Pseudomonas Fluorescens

e. Answer not known

Cau posaimwds &L BLUUGSSHMSD WISaID UwaleTansTes  BHeplldbsiul Beten o uilT
UFFoH6aT6060 61517

a. Gl Lrengdlwb sl b. urdleverd &iMehd Gluieitalerd
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C. 19y TaILTIoT @iiflig d. @&GLIGwmeImerd . .LIGeTy & 6iterd
e. alewL OxMweailedensv

The next stage of growth for India’s fintech will come from
a. Income, Investments, Insurance and Institutional Credit
b. Income, Consumption and Trade

c. Investment, Exports and Banking

d. Credits, Repayments and Income

e. Answer not known

@hHwmaler HHH QHTHOBIL L auenTFFullear DIBHHHN60 6ITIH6D 2 TN MRS FnBIBH6i
aUmaUTW, (1p&HeS®H, STUIH WLBBID DIHIOLILYSTT HL 63IH6N
QUHUTUI, [HIGTE] LOBMID eewnilsD

WH5B, gBmIg WLBBID eumISuTuIed

FLGHIB6T, HHOUF CFIHHIHEL WBBILD GUHEUTU]

alenL  OFMuialeoemsv

can o

Assertion (A): Govt. of India approved the National Policy for Farmers (NPFs).
Reason (R): Many of the provisions of the NPFs are operationalized through
various schemes of the Central Government.

a. (A) is true but (R) is false

b. (A) is false but (R) are true

c. Both (A) and (R) is true; (R) is the correct explanation of (A)

d. Both (A) and (R) are true; (R) is not a correct answer of (A)

e. Answer not known

amppl (A): elaustisepdsstar  CxAu Oamamasd (NPF) @bslw  ops  guiysed
Sl SHHI6TENS).

smewd (R): eleusmuisepsster  Capdw  Gamemasulsr Lo  gBUTBSET  HBUI

Srdlar LeGauml FH L mIS6T cwevld 6lFWEOLIBSHSLILIHES eTse.

a ) eissiug &l spemmed (R) eteiiugy sHeum)

b. (A) eissiug seum spemmev (R) ereiiuigy &

c. (A) wppd (R) Beweu Gremi@o &fl. (R) steug (A) uller sflwrer efendasid

d. (A) vppw (R) Gwen Gyewi &fl. (R) ereiug (A) ulest seupren ealendasd

e. alemL OFfluaisvensv

Which among the following is/are correctly paired?

I. Mission Vatsalya - Comprehensive rehabilitation of transgender persons

I1. Mission Shakti - Provision of citizen-centric life cycle support to women

III. Mission Poshan 2.0 - Addressing the Challenges of malnutrition in children and
girls

IV. Smile Scheme - Comprehensive rehabilitation of persons engaged in
begging

a. I and IIT only b. L I and IV only c. 1L, III, and IV only

d. I, Ill and IV only e. Answer not known

Letaumelereummien o1&/ elene FHWImed SenenibsliLLl [Heeng)?

[. eurdasowm Buisbsid - HmphiensHeet alfleuTet LOTBIOIDE

II. 558 Budsbd - QuWIBEDEG GlWfleno FTTHSH UTDE (PSS SHT6]

UPHIGH6D
[II. Gumgmenr 2.0 Budsd - GUbHmHHeT LBEID JFpidseled o' | FFHH  (GHMBUTL Q6

FAUTELHMGNT HlaUTHF OFUIHE
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IV. Smile &t Lib - Wgeamg a1BBGID BUTHeT6T alfleumer p3IeUTDE]
a. I wpgip I By b. I, II wmgio IV w’ @b
c. I, I wmpid IV wl @G d. I, III wpgw IV w' Gap

e. alewL Oxfweailedensv

Which one of the following is launched for a unified citizen-centric lifecycle support for
women and to unshackle women as they progress through various stages of their life?
a. Mission Vatsalya b. Mission Shakti c. Mission Saksham

d. Mission Poshan 2.0 e. Answer not known

LetTau(heuasTeuBmIeT  61& OLewide SHmideT eumpaled LGBl &L L miselled (pesiGerns  6u(hHLD
CUTISI QHmISmenhs LITRLL OBHBID UTHISTIDL UPHIGMSBSETS BpieuliLl L g?

a. euTHFOWT BUibsLd b. 558 Bubsld C. F&hIFlD @UISHSHLD

d. Gumgner 2.0 Bussd  e. el Osfwealsanew

Identify among the following statements that is/are true about political parties in
modern democratic states?

1. Conservative parties believe in status-quo

2. Political parties are classified as per India ideologies

3. In India, Communist Party of India (CPI) and Communist Party of India (Marxist)
CPI (M) are examples of rightist parties.

4. Radical parties are rightist conservatives” parties are leftist and liberal parties are
centrist

a.land3 b.2 and 4 c.l1and 2

d.3and 4 e. Answer not known

Boied MWIHTWS DJFHSeHa SFFuwed &l Fesment uppslul Ueieumbd &hmoHaiseaieo  Filuimer
B(HSHBIHHENET  DIGNLWITGNLD BHIT6wI&b.

1. LpemoaUTHS S FH6IT LOTBBLOELEVT HeL (P60 BLOLIbmE OHTarTBeiTee.

2. oflwed &L Fs6ll HHHTHIBISETILIG 6UMSBLILIGSHSLILIBEIEIBET.

3. @pHutaled @b sbyeled’ sid  (CPD)  wpph ShHu  sSbuyeledr. &l d
(wrrédlerol) CPI (M) sepdlwensy euevgl gmiles sl dlaEnhdd o STyeauimise.

4. FHaly wLIBBHMS UAOWBISSID SLFH6T  eueHIFTIWTSD, LIPDOATHS — SLFH6T
BL giFmflwrsab STymeTeauTHsd SLFH6T BHbHmevd &L FHMTEaD H(HBHLILIBEHIBET.

a. 1 @y 3 b. 2 wBmib 4 c. 1 By 2

d. 3 wBpwb 4 e. alowL O flwalsveney

Read the passage carefully and choose the correct option (s) from below:

This town is located on the left bank of Nambi River in Tirunelveli district. An
excavation was carried out to search for the roots of the Irom Age culture along the
Nambi River banks. It is a fertile archaeological site and is known for its antiques.
Name the archaeological site.

a. Thulukkarpatti b. Keezhadi c. Vembakottai

d. perambalur e. Answer not known

SPHEHTEID USHHemWS HeUIonsd ULgshdl, Flwmer alemLemwsd GHibodHBHBMLD.

@Obs o FHHomeoGeusd TOULLSHHD BT uBMBled B g SmIuied SEnLOHSIT6NSI. [HLOLT
SBBHIBMIUTD @HIOLSSTL STFFTISHH T CouTadamen CHBUSBITH (h DISLDITTTUIFS
GuoBOsmaTeniIUl LG &g  uUpmSTe  QUTHLSEHSEG Ouwim  uBs  em  QFWliuTe
O®Tevedled B 1b el SHHler Gl

a. BHIVSBITLL I b. &g C. QeubLisBsHm_amL
d. GuyibLigyit e. alemL OGxflwalsdensv
Match the following:
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A. Silent Spring 1. Edward O. Wilson
B. The mismeasure of man 2. Carl Sagan
C. The Insect Societies 3. Stephen J. Gould
D. The Cosmic Connection 4. Rachel Carson
A B C D
a. 3 1 4 2
b. 4 2 3 1
C. 2 4 1 3
d. 4 3 1 2

e. Answer not known
SIPSHHTEHTLIIMBENMB  CILIT(HHSHIH:

A. engevetl erOLIfm 1. eileu® g.ele0g6i
B. & 0lebGwait oyt Guoesr 2. &ite0 Bgaei
C. & @ahgs QFTamsL 196rd 3. eroleusst Ggg. BamedL
D. & smevis s6arsaget 4. Gygev smiTgen
A B C D
a. 3 1 4 2
b. 4 2 3 1
C. 2 4 1 3
d. 4 3 1 2
e. alewL OFfwalsdensv

The Mabhila Kisan Sashaktikaran Pariyojana (MKSP) was launched by the Ministry of

a. Health and Family Welfare b. Finance c. Industry

d. Rural Development e. Answer not known

Gouenmmewst  w&efllT  FHg  Guum @  QuebALLLD (MKSP) eeiums  QFwedLBHHID
SIMLDFFHLD

a. GSTHTID WLBBID GBU HVSHSHIMB b. W&szimm c. Ozmpsvgims

d. eaps Guibum’ (bs sHlenm e. alewL Qe fwalsdensv

The Public - Private - Partnership in India is systematically meant for investments in

Choose the correct options:

a. high - priority public utility services
b. increasing infrastructural facilities

c. both (A) and (B)

d. National Defence alone

e. Answer not known

AhFHwraled, QUTHISSHIENB LBEBID HEIWTT HOB Tl (B (PHSBH6T 6HOSHDHDH HlMBH6I60
FTHHWID eTalend 0Ffea] CFuls.

a. Wereiflendy QUBB CUTHL LWSLT. (S SHlemBH6iTe0
b. o sl Ll euFdsemen oiFHsfas

c. GuwBe @M (A) wopid (B) wl @b

d. Cadw ungisniy GFealambismen &IF®hoED

e. alewL OEMwealedensv

“The Great Tragedy of Indian Partition” was written by
a. R.K. Sharma b. S.S. Sharma c. V.D. Mahajan
d. S.N. Mehta e. Answer not known
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“@baHwl Uflaleeruier Gu@mb GFmsd” HITeN6L 6T(LHSHWIeUT
a. ou1.8s. gior b. ererd.ererd. &rioT C. ai.lg. LDHTEQEHT
d. ererv.ereir. GodsT e. alewL QFfwalsdensv

SHENNAI

Match the following states with its National Highways (km) under Bharathmala

Scheme:
States Bharatmala Scheme NH (km)
A. Nagaland 1.193
B. Mizoram 2.361
C. Assam 3.512
D. Manipur 4. 607

A B C D
a. 1 2 3 4
b. 2 3 4 1
C. 1 4 3 2
d. 2 4 3 1

e. Answer not known
&6  CaTBHBLUUL(BeTen  THevmsmeT  SiFHal  CBBehFTemevseT  (&.16.)
FHLLSHey QUTHSHHIH:

LOMB60LD uTFSLomeuT FHLGHHe0 OBBEhFTenevs6T (&.L5)
A. BIsTEITHS 1. 193
B. w@azmyib 2. 361
C. 9ojerdenombd 3. 512
D. wewftiy,T 4. 607

A B C D
a. 1 2 3 4
b. 2 3 4 1
C. 1 4 3 2
d. 2 4 3 1
e. alemL OFfluaisvensv

Match the following and choose the correct option:

A. Environment Protection 1. India REACH
B. Insurance for Employees 2. FSSAI
C. Chemical Management and Safety =~ 3. Umbrella Act
D. Food Safety 4. ESIC
A B C D
a. 4 3 1 2
b. 3 4 1 2
C. 2 4 1 3
d. 2 3 4 1

e. Answer not known
SpdbsTemiLiaBemB CuTheHd wBpid Fllwmer alemLamuwl BHiTho%H B &S LD:

A. FBBIG60 UTSHISTIIL 1. @bsur REACH
B. Oamfeomeniisensbarer smii® 2. FSSAI

C. BaudliQummeT Gevmemienid WOMBEMID UTHIBTILY 3. GeWL FLULID

D. o _awieyll LITGHISMTIIL 4. ESIC

A B C D
a. 4 3 1 2
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b 3 4 1 2
C. 2 4 1 3
d. 2 3 4 1
e. alewL OFflwealsdenev

46. Match the following and choose the correct option:

A. A non toxic glue 1. Chitin in crab shells

B. For long term Medical 2. Glucose oxidase enzyme and iron oxide nano
monitoring particle

C. High performing lithium-ion 3. Glucose and citric acid

batteries

D. ‘Greener’ way to clean waste 4. Sugar cubes dipped in poly dimethyl siloxane
water treatment filters

A B C D
a. 2 4 1 3
b. 3 4 1 2
C. 3 4 2 1
d. 4 3 2 1

e. Answer not known
SpsaTeniLeuBens GuThSHSH wBpIb Fiwrer el mwld CHTHOHHHHeLD:
A. QUGB UMBEETH hEFHSHHHTMOWBG 1. HewiB @HB6Ted o 6ftem FL g6
LenF
B. pewiL &mev wmHHn SemisTamilIliBG 2. GensCsmead oiHFCLed OpTH WBBID E)HbL
DUHMFDH BTG H1H61TH6NT
C. 2 wit QFweddmaniemL i 6053 WD 3. GensEGaread wB@Id Al fld deod
el GuL_LMaei

D. “ugemw” sfle) BT abHSMliL 4. ured emLOGHFHe0 FleordBFefled HemerTBLILIL L
QYBL 19HMEN FiSHHID OFUIISHSE ST &ML 19
A B C D
a. 2 4 1 3
b. 3 4 1 2
C. 3 4 2 1
d. 4 3 2 1
e. alemL OFfluiaisdensv

47. Inter Governmental Panel on climate change conference was held in 2021 at

a. Buenos Aires b. New York ¢. Moracco

d. Glasgow e. Answer not known

Li(heuBlenev LOTBBLD GTLiTumen LetenTl (b SiFdEiseier @Guwaler 2021 wibTG HOLOUBB L Lb
a. Luemerd ouierd b. Muguiniré c. OumrymaGast

d. denmmervBesm e. alewL OxfNweledenew

48. ‘Jal Jeevan Mission” was announced by the Prime Minister of India on

a. 15t August 2017 b. 15t August 2018 c. 15th August 2019

d. 15t August 2020 e. Answer not known

™M60 236U6lT L6196 Sep @bHw Lgsw whHfuleanmed Sipflalsaiiul L gi.
a. 15 gymervl. 2017 b. 15 g®edl 2018 c. 15 smervl 2019

d. 15 gmedl” 2020 e. alewL OxfNwaledenew
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“Every time my coaches who helped me to win a medal at the Olympics have been
removed from my training process and competition”. Name the sports star who said
this

a. Lovlina b. Marykom c. Vijendra Singh

d. Dhanraj Pillai e. Answer not known

“euleum(n  (empud, eelbllld  CGumlyseflsd  UHEHD  Geusdev  FHlewewrflujb  eTeIG
aflewenum (B LuiIBdlwrenT OBMIwTenT BT LRGsBEW LB Bl (WPeBUTHHHID LOBEBID
Gumlyseailelmballp BohsUUGHSBEIT 6he almenuml(h BLFSHID BbHHdH BB
a5l GOTTIT.

a. eveledeurT b. GuwfGasmb c. alGxhdy Hmi

d. semgney eienen e. alewL OHfNwaleenew

In which City of Tamil Nadu, a floating solar power plant with 25.3 MW DC/22 MW
AC capacity was inaugurated in March 2022?

a. Thoothukudi b. Chennai c. Ramanathapuram

d. Kanyakumari e. Answer not known

SOSHHa6en 6hdh BBIHHe0, 25.3MW DC wpmid 22 MW AC Aper OsmewiL  0$EE@LD
Gfw Hegshs) Heneowld OFHTLmsLILLL &7

a. HHSHHGSI b. Goeenen C. SUMDBHTHUJID

d. seeflwmgof e. alewL G fwealsensv

The theory of use and disuse of organs was put forward by

a. Darwin b. Weismann c. Oparin

d. Lamarck e. Answer not known

“LDweTuT® WLBBIDL LWETUGSHST 2 DI’ CsTeTendamul (LPeTGILDTIHHIH6IT
a. Leest b. Geuwerd@uoeit C. @UGLfesr

d. eumonia e. allewL  Oafuwieisdenso

Forest Survey of India (FSI) was created with effect from

a. June 1, 1981 b. June 11, 1981 c.July 1, 1981

d. July 11, 1981 e. Answer not known

@hsw euenr ouie] (FSI) o meaumdsiul @ Bl (peadBrLBGSHSILL LS

a. ggreor 1, 1981 b. egrei1 11, 1981 C. o°amev 1, 1981

d. egremev 11, 1981 e. alenL  GaMuweailsvemev

Colour blindness is a disease.

a. Iron deficiency b. Air borne infection c. Vitamin deficiency
d. Hereditary e. Answer not known

PBEGGHLBG ChTul sreug Grmuwm@L

a. ®BUFHIH GHmBLT(H b. stBpieny QHTHBmI C. maUl LT Gemmur(
d. umpbuflund  grihg e. alenL  Gafweaisvensv

Match the following:

A. Anilinopyrimidines 1. Herbicide

B.2,4D 2. Rodenticide

C. Zinc Phosphide 3. Fungicide

D. Parathion 4. Insecticide

A B C D
a. 3 1 2 4

16 | Page APPOLOSTUDY CENTRE PH: 044-24339436, 42867555,9840226187
http://www.appolosupport.com/




55.

56.

57.

58.

APPE | 1)

Y RFHNTRT
SHENNAL

b. 3 2 1 4

C. 2 1 3 4

d. 1 2 4 3

e. Answer not known

QUT(HSHHIS:

A. 9161608amLyL0lg6tTH 61T 1. smens6smens)

B.2,4D 2. a169506sme060

C. fmis umerdem” 3. U6ehenFH6Hme060

D. umyrggwimest 4. y&5d Gamevel
A B C D

a. 3 1 2 4

b. 3 2 1 4

C. 2 1 3 4

d 1 2 4 3

e. alowL  GgMwalsvenso

Heat transfer in a transparent solid is by

(i) Conduction (ii) Convection (iii) Radiation

a. (i), (ii) and (iii) b. (i) and (ii) only c. (iii) only

d. (i) and (iii) only e. Answer not known

ool eaBmeyd HLLCUTHL SN0 Geulin LforBBLD

(i) QeuliusaL G360 cpeold  (il) GeUILFFEUID eLP6VLD (iii) sPmeaiss cpeold
a. (i), (ii) wBpIb (iii) b. (i) wmmpib (ii) only c. (iii) only

d. (i) w@pd (iii) only e. alowL O Muwialsvemen

The method of building Nano materials by assembling atoms is called

a. Top down approach b. Bottom up approach  c. Cross down approach

d. Diagonal approach e. Answer not known

SlamIbHmeT  @aiml  CaFTULSeT cweold BTG  GQUTHENeT © (HeUTHGD (PenBedwl  EeleuTy)
SN BH6EVTLD

a. Gwed B SIGIPOB b. SpHo SMGUWOB  C. GOIEG NTWIGYPDB

d. cpemevall L S1emiG(Lpenm e. allewL  Gaflwalsvenso

Enclosed and essentially self-sufficient (but not necessarily isolated) experimental
environment or ecosystem that is on a larger scale is known as
a. Mesocosm b. Microcosm c. Macrocosm

d. Macrophyte e. Answer not known

apLliu’ L oBmid  SgliuemLuled  SHeiielenme]  (SLemed  SHellewlLBGHIUILIL  Ceueigul
Slauflwidlevener) Camgemen @GHosL Slevevd Ui Slealed MBS FBBIFESHLOD DIEDLOLIL]
6T DIMDSHHLILIBSBSI.

a. 6GgmaTFID b. eoaGyreTaid c. GuaGyrangb

d. GuaGymenui’ e. alenL  GaMuwailsvemev

Assertion (A): Atelectasis means collapse of the alveoli.

Reason (R): Total obstruction of the airway and lack of surfactant in the fluid

lining of the alveoli
a. Assertion (A) is wrong, Reason (R) is correct
b. Assertion (A) and Reason (R) are correct but Reason (R) does not explain Assertion
(A)
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c. Assertion (A) and Reason (R) are wrong

d. Assertion (A) and Reason (R) are correct, Reason (R) explains Assertion (A)

e. Answer not known

&S (A):  DlgGlevdsLmerderd e1eTlig HIOTUTTEL STBHI HIEWIML BFHLOML USHTGLD.

aryenid (R): smBmiiutengd  (wupeugid GFFHoedLaugkl LBBID STBHI  Hliewenuules Gomuyiiy
Fyaud GMBEUBHID SHGLD.

a. apdal (A) seuml. srgewid (R) &

b. asmsad (A) smgewapd (R) af, spemed smgewnd (R) smdbms (A)  alens@Hausms

SIMLOWIAT06M6V

C. a(SHSID (A) s (R) seupi

d. amsaid (A) srgemapd (R) M, smeid (R) smsms (A) alens@Ganal.

e. allewL G flwalsvenso

The chief function of velamen tissue in plants

a. Storage of food materials b. Absorption of moisture from air
c. Synthesize of food materials d. Conduction of food material

e. Answer not known

FHTougmiseied Geuevlioe HgFialler (Wl Liewf

a. 2 _ewial QummL senern GFLALILIG b. smBBledmhE FINILSHMS 2 1ichFaIS

C. 2 _euieyll QUTHLSemen SWTHLILIS d. o _ewial QUIT[HL Bemen HLHEHIaIGH

e. allewL  Gafwalsvenso

‘Guttation” takes place through

a. Hydathode b. Lenticel c. Stomata

d. Cuticle e. Answer not known

‘Brieadle) 6 peold HeL CLBISBSI

a. ewamL Cxmh b. QevewngGged C. BMVSHBHIM6T
d. duyt 9deir e. allewL  Gxfwailsdenso

Which article of Indian constitution mention about the development of scientific
temper?
a. Article 51 b. Article 60A c. Article 51 A (h)

d. Article 61 A e. Answer not known

@paw  opdwevemwliiear  aphHl  LUflelled  opflelued  webHleneoulet  euenTEFS  LBSH
GBI LU Beiteng)

a. ifley 51 b. 1ifle 60 A c. Ufley 51A (h)

d. 0fley 61 A e. alenL  GaMuwiaisvemev

What are the characteristics of rote learning?

i. Passive Process ii. Parasitic learning

iii. Active learning iv. Teacher - Centered

a. (iv) and (ii) only b. (i) and (ii) only c. (i), (ii) and (iv) only

d. (iii) and (iv) only e. Answer not known

QUT(HET 2 _6WIPTLDED SHBMES6ET LIGRHILISHT WTenel?

a. QFWeOmM BHHBBED (LPeDD b. @ Bewrenl sB®med

. QFwedsd HMBM6L d. eeflwir Fnibss

a. (iv) wopib (ii) i Gid b. (i) @b (ii) oL B c. (i), (ii) wmpd (iv) L @
d. (iii) wBpIb (iv) Wi Gib e. aflewL  Osflwalsdanev
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63. Assertion (A): In the case of a sphere floating in a liquid, a tilt one way or other
does not change the shape of the displaced liquid and said to be in
neutral equilibrium.

Reason (R): Meta centre (M) coincides with centre of gravity (G) all the time
and it continues to float in all positions.

a. (A) is true but (R) is false

b. Both (A) and (R) are true, and (R) is the correct explanation of (A)

c. (A) is false, (R) true

d. Both (A) and (R) are true, but (R) is not the correct explanation of (A)

e. Answer not known
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&Bp (A):  FHrausdear g Wsseh CatensdHmer eashHamFuled SHmLlameld iFHermeo
CeuelCuBBLILBLD  HFeudhden eaugalld IBTOIHBSWD Ged DI HBHBH 6O
gFlopleneouled B(Heb@SLD.

asryewid (R): eiBurgid Bevr. evwowid (M) wmiiy enwouwd (G) BeuelyesiGd  @emilet B
QM QUIHHSH  BHUUSTEL  6T6060T  HlewevdHaNaID  CHTLAHEH  WOHHIB
O&memTgmHEBGLD.

a. (A) gfl gemmed (R) seuml

b. (A) wipd (R) @rewipo &f: wppid (R) apm (A) &g aflwmer alendson@d

c. (A) saum (R) &M

d. (A) wppid (R) Syewibid sf: gemed (R) sapm (A) &@ ailwmer allendsid l606v.

e. alenL Gafweailsdenso

Water rises upto a height h in a capillary tube of a certain diameter. The capillary tube
is replaced by a similar capillary tube of half the diameter. The water will rise to a
height of

a.4h b.3h c.2h d.1h e. Answer not known

QM GUIILL ol Lib O&TewiL HEW Hlemend  @Gruied Brmeidl h e ol L SHBE

HIGWILMWUT60 gBBLmLEBH. BbHSH HIWILDWS GTWTeEH LoBeBTh  uTgdHuleme) el L b
OaTemiL  Hlewiglenend GWTWTe0 rBBLUGL Curg Bl HiewLmw gmpsHaHlen oL L LD

a.4h b.3h c.2h d.1h e. aleowL  Ogfwalsbensv

The contraction of volume when ice melts can be attributed to

a. Partial collapse of tetrahedral structure b. Formation of Hydrogen bond
c. Water starts to vapourise d. None of the above

e. Answer not known

uaidbally o HGL CuTH DISHIML U LIHLOGT (&6eNBeUSBBTE BT 6wILD

a. ueldaLl guiles BTaNS LIgsHsd S LML LGIHUIETE] E6mMeV6eUHT60

b. ewami o6t Lenewili] 2 (HeuTaldHTe0

C. bT SLelwnsd CFHTLHIG6SHT6D

d. @emeu gFHILOLEM6D

e. allewL  Ggflwalsvenso

The largest ecosystem in the world is

a. Desert ecosystem b. Ocean ecosystem c. Grassland ecosystem

d. Forest ecosystem e. Answer not known

Letteu(heuateuBplied 61g 2 eudledr LOSLIGUITIUI @60 LD6TL 60LD?

a. LT6DEVAIGITF @nlD6D LDGITL_6VLD b. L6 @lped WLV  C. LeoGleuellEF @Hlped LDGIIL 6VLD
d. euerF @Lped LDGWTL 6VID e. alewL Gz fuwailsdenso

Which of the following events occur during hibernation in animals?

(i) Oxygen consumption rate is reduced

(ii) Heart beat rate of animal is increased

(iii) The body temperature falls 1-2° C below the environmental temperature
a. (i) and (ii) are correct b. (i) and (iii) are correct

c. (ii) and (iii) are correct d. (iii)only correct

e. Answer not known

GofliTaTen o BHs Hensouled alevmiGHHeT EHBHGSWLOLTIDS, SLDSHHETL UBBIGT 6IHHIBHLDE|SH6NT
BeoL OUBISBSI?

1. LHeINeT HISTey S GHMBSILILIGEDBS

ii. aflevmiGaefllal BawHBIgLIL| DiFHETHS MBS
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iii. 2 Le0 GeauliuBlensy SBEBIFGHWed GeauliuBenevenuws el 1-2° C &6 GHmBaAmsI
a. (i) wppiw (i) sfwrereneu b. (i) @ (iii) sflwrerene

c. (ii) wppib  (iii) Ffwrereneu d. (iii) w GG sfwrergi

e. alenL Gafweailedenso

Match the following:
A. Carrageenin 1. Insulation of boilers
B. Diatomite 2. Dental impression
C. Kelps 3. Irish moss
D. Alginic acid 4. Brown Algae
A B C D
a. 3 4 1 2
b. 4 1 3 2
C. 2 1 3 4
d. 3 1 4 2

e. Answer not known
SLpSH &L auBmBL CLITHHS

A. syrede et 1. Carddevetdener UL GLM(HeIT
B. Lwi GLmemiol 2. U6D LIQLOLD
C. GsevLierd 3. ggfley umd
D. soodeiles oiflevid 4, pelil umdlsel
A B C D
a 3 4 1 2
b. 4 1 3 D
C. 2 1 3 4
d. 3 1 4 )
e. allewL G flwalsvenso

Arrange the following four steps based on Wallas Creativity Theory

1. Incubation 2. [llumination

3. Preparation 4. Verification
a.3,1,24 b.3,2,1,4 c.2314
d.21,4,3 e. Answer not known

aumeverd  eteiileuflell LB SHIMeT  CHTLUML Q6T — SPEHBTEmID BTG
aflengILBSHHIS.

a. o_eieuenitéd b. 2_eiQenmefl BHTeimIHe C. QUWISHHID

d. sfunigseo e. alewL Gafualsdensy

Which of the following is incorrect?

As rain drop descends towards earth

1. Up ward air drag forces increases

2. It comes with zero acceleration

3. It comes with zero net force

4. It comes with zero terminal velocity

a. 4 only b.1and 2 c. 3 only

d.3and 4 e. Answer not known
SIDSHBTERILIIBIBIGT HOUDBTE FnByl 6157

wenwshgiel yileww Crrédl allugd Gurg

1. Gev CEHTHAW &TBHI Bpelnaser iFHEMeEL0D
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2. &0 WPWBEBHSHILGT aU(HLD

3. QwrgHe alenguie WHILY SHOUL 6T au(HLD

4. pppl HewFCausHHer WA FH LGS

a. 4 L @Bw b. 1 wmimnb 2 c. 3 B
d.3w 4 e. aleowL  Oafwalsbensv

Which of the following statements is/ are true about the Council of Ministers and the
Cabinet?

(i) A Cabinet is the head of one or more departments

(ii) The Ministers meet jointly and frame the policies of the Government

(iii) Ministers of State and Deputy Ministers do not have a share in the formation of
Government policies

a. (i) and (ii) only b. (iii) only c. (ii) and (iii) only

d. (i), (ii) and (iii) e. Answer not known

SmFFTHeT G wBpld CsUel OummssHeauemy &6 OCeETHeESLILIL (heiTem eSS WLnIS6T 60
axl / etemeu gflwimenig)?

(i) 9w Galel SmLEFFT QDI Devevd DSBS CLBULL HENBHETNT SHEneveUT

(il) omwssiser gmlLres Calbal STFTEISHSH 6 QBTETMEHHMET 2 (HeUTdHESHBMTTSH6I

(iii) opFMEssHHET  CBTATMHBMET 2 _(HUTHGUDHD SHMeVMID (BITRTEIE)  SIEDLOFFT
wBpd Urd (Hevem) DImEFSFTHEhdE LkIG SHenLTg]

a. (i) wBpib (i) L G b. (iii) w (G c. (ii) pmib (iii) o BLb
d. (i), (ii) wppid  (iii) e. allewL Oz Muwelsvensv
Match the following:
Match correctly the borrowings to Indian Constitution from other countries:
A. Parliamentary Democracy 1. USA
B. Fundamental Rights 2. UK
C. Directive Principles of State Policy =~ 3. Canada
D. Federation 4. Ireland
A B C D
a. 3 4 1 2
b. 2 4 1 3
C. 4 2 1 3
d. 2 1 4 3
e. Answer not known

SLPHEWILUBemBL  CILIT(HEHHIH:
Umprhseiedmba Shaw SipdlwevenoliiBp GuBLLL L euBens Fhwrsll CUMTHEHHIH:

A. uTITEBHLOGTB (LB oSSBT &) 1. &6wfésT

B. siptiuenL o fenoselt 2. @rigleoThHgl

C. aya Opplwenssd Gsm umhwel 3. ®euLm

D. salLm & 4. SIIT6OMbHGI
A B C D

a. 3 4 1 2

b. 2 4 1 3

C. 4 2 1 3

d. 2 1 4 3

e. allewL  OFflwealedensv

“Desai Award” is associated with
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a. Grants
d. Trade

b. Autonomy
e. Answer not known

c. Language
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“Capamuwl ez WLer OFHTLTLemL WG
a. LomeollWmISeT b. gesreunm & c. Quomyp
d. argssid e. alewL Gxfwailsdensy

Which of the following statement/s is/are true in connection with Fundamental

Duties?

(i) To promote harmony and the spirit of common brotherhood amongst all the
people of India transcending religious, linguistic and regional or sectional
diversities; to renounce practices derogatory to the dignity of women

(i)  To develop the scientific temper, humanism and the spirit of inquiry and reform

(iii) Maintain just and honourable relations between nation

a. (i) only b. (ii) only c. (i) and (ii)

d. (i), (ii) and (iii) e. Answer not known

SIQLILIDL HLMIDH6IT OHTLTUTE LISTaIbHD FnBBIBeaNed 61gl/ 6Temel 2 _amTenOUITeTen6u?

i) g, OCwrY wBEID FMHAW Sevevad fle CupLTBSEHSE DILTBULL bW LDSHS6IT

HHUTL  BevelledbsD, OuTHauTel FCETHISHBHIUGHMS meHGHalHHe0 LHBBID ClLewSerT e

senienWHm®H DQPOLBGSHBHID LILPSBHISM6T MEHa[HSH60.

ii) oflelwed eriumeen, wellg Chwib, elgTgemer WHBEBID FTHHHD o awiTe D& weBems

QUTTHHIH  OBIT6T(ETHH6L

iii) pIB&EpSEHMLCW HwTwiomer BEBID CEeMILTeT 2 Be|sHemenl GLgmIge0

a. (i) L Bw b. (ii) L Bw c. (i) wppid (ii)

d. (i), (ii) wBpib (iii) e. alenL  QFfwaieoenso

What is the full form of CERC?

a. Customer Education and Research Centre

b. Consumer Education and Research Centre
c. Consumer Education and Relief Centre

d. Customer Education and Retail Centre

e. Answer not known

CERC @it alifleunebasid 6resreur?

a. aUTSHESWT6NT Heval LOBEBID ITUIFF] eDLOWILD
b. BIsTGaT Heva OBBID SYPTUIFS @IDUID

C. BISTGNT Heval LOBEBILD HleUTF6mT eNLOWILD

d. eumgdenaswimen sHevall OBMID FeL6VENHB  EHLOWILD
e. allewL G fluwalsvenso

Identify the wrongly matched: Major scandals in India
Year Description

1.1994 - Telecom Scam

2.1995 - Hawala Scam

3. 1996 - Fodder Scam

4.2001 - The Tehelka Scam

a.1only b. 2 only c. 3 only
d. 4 only e. Answer not known

SHOUBTET CLIT(HSHHIHEN6D H6wILSI5:
BpFHwimaled BLbg Guflul empedse

QU(HLLD allend LD
1.199%4 - OzmTemev GHTLITL 261p60
2.1995 - QAMAUTEVT 266D
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3. 1996 - FHAUGT 261DV

4. 2001 - OHBEOBHT 261|P60

a. (1) w’ @ b. (2) w G c. (3) wL @B
d. @) w' @ e. alenL  GaMuwalsvemev

The Supremacy of the Constitution is maintained by

a. Independent Judiciary b. Parliament

c. Co- operative Federalism d. Procedure established by law

e. Answer not known

ogmwliter Guwearemio @&e cpeold UFTOFSSILIGSBSI

a. &FHHATIOTRT HAHHHIMB b. BL_m@mLoemsLb

C. gnl_(hmaieomer &nl LTl & d. LD auGHsIS 0BTHEHS HOL (LB
e. allewL  Gafwalsvenso

Though the country and the people may be divided into different states for the
convenience of administrative activities, the country is one integral whole?- Who said
this?

a. Rajendra Prasad b. Jawaharlal Nehru c. Bhimrao Ambedkar

d. Vallabhbhai Patel e. Answer not known

piieutad  GgweounGselear  eugdHdstes  BIGWL  WHHEHD  OeouaiGaup  LOTHEVHISETTSL
Wfdasiul Lmeid, BTEH TGl (LPIPMOWITS Q(HRISImeIbHSH @61l 616l Fnmligl uwimr?

a. QumBxphdy Lyansd b. meuamitevned Gmr(h c. ibymell oIbBLIGHST

d. euedevuimut L GLed e. alewL O fwaledenso

In India the real executive authority rests with

a. The President b. The prime Minister
c. The Council of Minister d. The Civil Servants
e. Answer not known

AhFHwraled o exrenowimer SIHSMID Wil CUTHHSH  STerl LGS BH

a. BYWISHS HEN6eVeUT b. Mysw wHHM C. OIMFFT GH(1D
d. @enior uemiuwimernit e. el G fwailsdenso

Match the followings (with respect to Directive Principle of State Policy):

A. Socialistic principles 1. Uniform Civil Code

B. Gandhian principles 2. To protect and improve the environment

C. Liberal principles 3. Community development programme

D. New Directive principles 4. Equal pay for equal work for both men and women
A B C D

a. 4 3 1 2

b. 3 4 2 1

C. 2 1 3 4

d. 1 2 4 3

e. Answer not known

SIS B aBMBL QUTHSHHIH: (DIFa aUPST B OBSH6N)

a. QUTGHIOL WD OHT6ITNHH6N 1. QuTal GYemF FLULID

b. smhHuid CsmeTenssein 2. sBBIF@GPMe0 CLbLBSHSHIHE LOBBID

STLILMBBISHED
C. HMTEMEUTSH OBTETENDEH6IT 3. gaps Cubur (s LD
d. ydw auflam B Cmplpammss 4. oot oBBID 1H6ToHE FGaImendE
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OTeiTensH6iT FID 2AGHUID QULPHIGHSHIH6D
A B C D
a. 4 3 1 2
b. 3 4 2 1
C. 2 1 3 4
d. 1 2 4 3
e. alewL. Gafweledenso

81. Match the following Statement I and II:

A. Heart and Soul of constitution 1. Article 24
B. Protection in respect of conviction for offences 2. Article 23
C. Prohibition on human trafficking and forced labour 3. Article 20

D. Prohibition of employment of children in factories etc., 4. Article 32
A B C D

a 1 2 3 4
b. 3 4 1 2
C. 2 1 4 3
d 4 3 2 1
e Answer not known

ulwed I wppid ulpuwesd I sflwrsl QuTmSSIS:

a. SIIFweoamolILler GSHUID OBBID  LEvTLOm 1. alg 24
b. G&BBEISEHHBTET HIL N6 OHTLTUTET LITSHISTLIL| 2. elg 23
C. oalpd SLESMIGEE LHDID DlgDLSEIHBHEG SOL

al&HbsLILL (BeiTengl 3. alg 20
d. GsmPBaTmevseailed GLHMBHN OBHTIHeUTNTHENTS
DIDTHHSH Fal TG 4. ailg 32
A B C D
a. 1 2 3 4
b. 3 4 1 2
C. 2 1 4 3
d. 4 3 2 1
e. alenL  OFfluwailsvensv

82. Pluralism is the keystone of Indian

a. Culture b. Democracy c. Religion
d. Federation e. Answer not known
USI(LSHHSHGEMID 611G @b GOLDEVEHEIT  HLGLD.
a. HELUTFF S 601 b. sepTuIsd 6 C. LDHH 60
d. gl Lmdlufen e. allenL  Gafweaisvensv

83. Which of the following are correctly matched:

1. Habeas Corpus - To command

2. Certiorari - To Certity

3. Mandamus - To bring the body

4. Prohibition - To prevent

a. 1 and 4 are correct b. 1 and 2 are correct c. 3 and 4 are correct
d. 2 and 4 are correct e. Answer not known

SlaumeuaTaUBBIeT elemer FRlwmes CQUTHSHBHUILL (BHeiTerng

1. & GameonT B IGLITTen6woT - B Lenemuil_ev
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2. Gpps (pedm 2 mIGHHID BHAHIGLIFTeN 6w - gmeImer & &H60

3. QFwIBISSHID HALICUITTEn6wT - QUHEUMTH OBTEI(H  6U(HIH6E0

4. sOLWBISSH BHIIGLITenemT - 565360/ PBiHSHe0

a. 1 wppid 4 sflwrerenel b.1 wBmd 2 slwreeney c.3 wBEId 4 Flwmerenel
d.2 wBpd 4 siwreiee e. allewL  Gaflwalsvenso

Who among the following called the ‘Preamble” of the Indian Constitution as ‘Identity
Card of the Constitution’?

a. Jawaharlal Nehru b. Sardar Patel c. N.A. Palkhivala

d. Subhas Chandra Bose e. Answer not known

OhHw  DIFweoemolle (PHeMImW  “‘OIFuld FTFAISHHET DDLWITT S enl’ 6T6Isl
SsTemlLBUaTHelle0 WTT npsluigl?

a. eauamiteomsd Gm(m b. gitemm LGL 6L C. 61601.6J. LIT6V&I6UT60VT
d. surerd FHFHy Gumerd e. alewL OgMwalebensv
Match the following:

President Tenure
A. Fakhruddin Ali Ahamed 1. 24.8.1969 - 24.08.1974
B. V.V. Giri 2.25.7.1977 - 25.7.1982
C. Neelam Sanjeeva Reddy 3.24.08.1974 - 11.2.1977
D. Zakir Hussain 4.13.05.1967 - 3.05.1969

A B C D
a. 1 2 3 4
b. 4 3 P 1
c. 3 1 p 4
d. 1 3 4 2
e. Answer not known

GYWITSHS HEN6VEUT ugHald HTeoD

24.8.1969 — 24.08.1974
25.7.1977 — 25.7.1982
24.08.1974 — 11.2.1977
13.05.1967 — 3.05.1969

a. UBHH D60 DIBLOGI
b. af.af.&M

C. Hevld FehdFell Ll
d. gnaSt o _Ggei

g —

A B C D
a. 1 2 3 4
b. 4 3 2 1
c. 3 1 2 4
d. 1 3 4 2
e. alenL. Gafwealedenso

“The Right of Citizenship cannot be taken away from a citizen except through an
express Parliamentary Legislation”. This is related to

a. Ebrahim Wazir V State of Bombay Case

b. Hukam Singh V State of Punjab Case

c. M.C. Mehta V Union of India Case

d. Ramachandra V Union of India Case

e. Answer not known

“@meaurdl  Guflenenw BTLTEHLSIBE FULGHH 6  cpeoBowiel Gouml euensuled LNSIGHS
LIS . DHFmBH THIL 0T OSHTLTLEnL Wgh)?

a. @b eudT V ubumul &a aupss,
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b. amésd A V uehaml oia aupdE

C. a1b.f.CwHHT V @hHu el aupsHs,
d. gmoganpadyr V. ShHul @emiuid eupdE;
e. allewL G flwalsvenso

87. Assertion (A):
Reason (R)

Judicial activism is inherent in judicial review.

The scope of judicial review has extended beyond the domain of

rights to include executive policies and legislative in action

a. (A) is true but (R) is false

b. Both (A) and (R) are true, and (R) is the correct explanation of (A)

c. (A) is false: (R) is true

d. Both (A) and (R) are true, but (R) is not the correct explanation of (A)

e. Answer not known

a&Bul (A): pHéssmpuisT WBFOFweLTH BHULaTTUIaIIeT 2 6T EhemBha HLILGS.

smyend (R):  Baliuemymuiey G a g g eot UTLIGLGLEM6OUIT TS 2 _fewip eTEnILD
CFwevsmiHIBGHL CoBOFSIBI  SmwFsreneuular HLd CoTeTemBHM6NULLD,
FsLLOWBBID Sieneuseier Ggweleremnwenuwiubd Emanisaid CaTeasiGeTendi.

a. (A) o _ememo: semed (R) sHeupm

b. (A) wppd (R) BremipGo gfl: (R) eaiug (A) aliater Fiwmer allendaongld

c. (A) saum: semmev (R) 2 ewieno

d. (A) wppid (R) SrewidBwo &i: semed (R) eiaiug (A) aiBsrer aflwime elendslorsrg

e. alowL  GgMwalsvensv

88. Match the following:
Doctrine
A. The Doctrine of colourable legislation
B. The Doctrine of Non-Obstante Clause

Nature / Tendency

1. Supremacy of Parliament in legislation

2. Competeting entries interpreted liberally
and need harmoniously

C. The Doctrine of Harmonious
Interpretation
D. The Doctrine of pith and substance
A B C D

a 1 2 3 4
b 4 3 2 1
C. 3 2 1 4
d. 4 1 2 3
e Answer not known
SpFHemILauBens  CUT(HSHHS

C=mmeiTens®
a. ey &LbG UL Qupmid Csmur®

b. semLuileveord FL0wmmd Gsmum(

C. Qewidsone alendasdhdler CaTiur®
d. augeud BEID 2 eiten_dad Gamun®

A B C D
a. 1 2 3 4

3. Determining the true character of
legislation
4. Tendency towards centralization

geitenn [/ Gurdb@

1. sl L0 wBBIeUSHe0 LTITEBLOGTBE 68T
o WiMhd Hlemev

2. Gumligeuens &L L LOWIMBBED
SITITETLOTS LD, EN6001E5SHLOTEH LD
allenaslILIBeag

3. FLL0wBBedeT 2 6uoTenLOUIT6T
G HMSHH STOTNILIS]

4. spowlILBhSHHmev ChTHHF OFeLaID
Gursg
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b. 4 3 2 1
C. 3 2 1 4
d. 4 1 2 3
e. allewL G flwalsvenso
89. Consider the following function of the process of the Parliament and choose the correct
answer:
1. Money Bill represents the will of the people
2. Delegated legislation is not subject to review of Parliament
3. Power of Amending the provision of the constitution rests with the Parliament
4. The Parliament can assume legislative power exclusively referred for the state subject
a.1land 2 only b. 2 and 3 only c.4and 1 only
d. 3 and 4 only e. Answer not known
LTJTEBLOSIBSHH 6 SpHHemiL Licnldemnend &HhH s, Flwmer almLmuld CabosbHoHsaLb.
1. uewt WCsFTHT WHH6T alBULSMS LITHHHSHHMILGHHS B
2. @uuelliyd FULID UTITEHLOGIB B PUIOSEEG 2 LLLLSH HI6L6V
3. opFmwlys sLL 2 pliysemensd HmSIHD CFd IHSTIHMSL  UTJTEHLOGIBLD
OTemTg(HH BB
4. UMJTEHLOGIMBLD, LOTHEVRISEHSGTW FLLOWBBID 61606m60HEGH6T BHBGHWD DHBMTHH 6 B
FLLL SWBB (pIQuib
a.1 wBpb 2 W @b b.2 wBpb 3 w Bw Cc.4 wwBmid 1 W (B
d.3 wBpib 4 wl B e. allewL O fuwialsvensn

90. How long can the Rajya Sabha delay a Money Bill?

a. 14 days b. 21 days c. 31 days

d. 10 days e. Answer not known

LOTHleVHISETen6l LiewT LOEFTHTEN6 616116166 HT6VD UMJ STOSLILIHHHEOTLD?
a. 14 B ser b. 21 mr e C.31 BT el

d. 10 B sei e. alew OxfNwealsbensv

91. The least Prime Number is

a.0 b.1 c.2 d.3 e. Answer not known
WBFABI LSBT 6T6u0r G D
a.0 b.1 c.2 d.3 e. alew OgMuwalsbensv

92. Find out the missing figure
AU L auemIUL S0 SHewi(BLIg

d. e. Answer not known

93. Various positions of a dice are given below. What will be the digit on the face opposite
to the face having digit 1?
Q@ usemLuler Geaumi'L menevder SO O@THGHSLILIL (heiTemer. 6wl 1 6B LSBHHBS
THTUSSSHIHBE CTHTUSSLD 6hG 616wl euJ Fn(HLD?
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/_f} f/_'/ | /1./]
B 4)
I 1l mn
a. 6 b.5 c.4 d.3 e. Answer not known

The next number in the following sequences:

0,6,24,60,120,210?

a. 240 b. 290 c. 336 d. 504 e. Answer not known
Weteupld QL Teuflenauien SIBSHE eTewt

0,6,24,60,120,210?

a. 240 b. 290 c. 336 d. 504 e. alewL Oxfwalsoenso

Find the sum of
1+3+5+.... to 40 terms

a. 800 b. 4000 c. 1600 d. 8000 e. Answer not known
1+3+45+.... 40 o_miIy®6T euemy
a. 800 b. 4000 ¢. 1600 d. 8000 e. alewL  Ogfwalsbensv

The next term of the Alpha numeric series
275,7Y7,14X9, 23W11, 34 V13, is

a.27U24 b. 45U15 c. 47U15 d. 47V14 e. Answer not known
275,7Y7,14X9, 23W11, 34 V13 aieti3  elewiGami(1pdhg Oapm fled 2iB6Hs 2 miri]
a. 27024 b. 45U15 c. 47U15 d. 47V14 e. alewL  OgMuwalsdensv

‘A’ can do a certain job in 12 days. ‘B’ is 60 % more efficient than “‘A’. How many days
does ‘B’ alone take to do the same job?

a. 8 days b. 8 Y2 days c. 7 days

d. 7 %2 days e. Answer not known

‘A" @ Gousmevemws 12 BT &Gemed woguumt. ‘B’ eieiueut A g el 60% FHmeniowimereur,
aefed 2185 Geuemevenw! ‘B’ sidgHemen BT SH6afed (LPIQLILITIT.

a. 8 [BIL el b. 8 V2 bt seir C.7 BT &er

d. 7 V2 pu_seir e. alenL  GapMuialsvemev

If 48 men working 7 hours a day can do a work in 24 days, then in how many days, if 28
men working 8 hours a day can complete the same work?
a. 38 days b. 36 days c. 35 days

d. 34 days e. Answer not known

43 oemidel @ Geuemevenws HTOeNTaIBISEG 7 wenfl GBIb Geuemev OFUIH 24 BT H6ri6e0
wluT  aefled 28 oemideT 6% Geuemevenw! HTOeMTEIBIGEG 8 wewl  CEyL  Geuemev
CFuIHTeL SIeIGMMeVENII 6THHEMEN BT H6M60 (LPIQLILIT?

a. 38 [BIL&e b. 36 mT el C. 35 BIL &6l

d. 34 ® el e. alenL  GaMuwiailsvemev

If the radii of two spheres are in ratio 1:2, then ratio of their surface areas will be

a. 1:2 b.1:4 c. 1:8 d. 1:16 e. Answer not known
®rewi(h Camenmiseaien umiseier aldsbd 1:2 aefsd SleuBper UpLUTLLSeier alslsLD.
a. 1:2 B. 1:4 c. 1:8 d. 1:16 e. alenL  Gafweaisvenso

100. A cubical tank can hold 64,000 litres of water. Find the length of the side in metres.
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a.40 m b. 80 m c.8m d. 4m e. Answer not known

Qb SO FHT alged HTHOSHT pwmeng 64,000 a0 BT GETeTEnd 6elled, SbHdH OB Iguiles
USBHH6 Hendhend LB L6 Smeur.

a. 4018 b. 80 18 c. 818 d. 48 e. alenL  GaMuwalsvemev

The amount is to be repaid on a loan of Rs. 12,000 for 1% years at 10% per annum
compounded half yearly is

a. Rs. 13,891.50 b. Rs. 12,888.50 c. Rs. 13,210.50

d. Rs. 12,955.50 e. Answer not known

eiheEG 10% sl Beoully aissHdHed @aEmenT UIBHSH @ (WD HeubAHLLILBLD  6refled
sLamalOoUB®s @b 12,000668 SHHLU CFSFSLILGL OHTmns

a. ep. 13,891.50 b. 5. 12,888.50 C. ap. 13,210.50

d. 5. 12,955.50 e. alewL O flwaledenev

Find the compound interest that Rahul would receive if he invests Rs. 8,000 for 18
months at 10% p.a, the interest being compounded half-yearly.

a. Rs. 1,061 b. Rs. 1,160 c. Rs. 1,260

d. Rs. 1,261 e. Answer not known

SIOTWTENIYBEH @H (WPdB aully Fal (B (penpulled Jr@&ed eh. 8,000-Hmd% 18 LOTHHISEDHDHS,
10% oewi® au'ly aipd CO&ETEUUS (1PHSE CFUISTT. DUBHEGHH HMLSGWD gl H el lg
6T6\l6u6TT6Y 7

a. Rs. 1,061 b. Rs. 1,160 c. Rs. 1,260

d. Rs. 1,261 e. el Gz flwelsdensy

If a principal becomes Rs. 17,000, with simple interest at the rate of 12% per annum, in 3
years, then the principal is

a. Rs. 11,000 b. Rs. 11,500 c. Rs. 12,000

d. Rs. 12,500 e. Answer not known

Qb oFTeaEH, 12% sl ey aissHed 3 QemiBsefled cp. 17,000 &  OTRIS GBS
GTRN6D, DIFEN6VSH SHTEWISH.

a. Rs. 11,000 b. Rs. 11,500 c. Rs. 12,000

d. Rs. 12,500 e. alewL OFflwaledenev

Which rate of interest, yields an interest of Rs. 200 for the principal amount of Rs. 2,000,
in one year?

a.10% b. 20% c.5% d. 15% e. Answer not known
bd el ly aiHlD, DIFeL €h.2,000-5&, ITMIHDHEG 5H.200-3 SHleUl QUITEHSH SH(HD?
a.10% b. 20% c.5% d.15% e. alew OFfwaledenew

In how much time will the simple interest on Rs. 3,000 at the rate of 8% per annum be
the same as simple interest on Rs. 4,000 at 12% per annum for 4 years?

a. 6 years b. 7 years c. 8 years

d. 9 years e. Answer not known

OIF60  15.4,000-5@&, 4 — pWIBsaled 12% au'ly ainpsHed HMLEGSID SHNaIl Qujd, DIF6e
5.3,0005@, 8% ey aipsHed HMLbGD Hall auQuid FOWTE SHEGD 6160, OIH6T
SLEOT(BH6IT 6TaIAIETUTS BY(HbGLD?

a. 6 SEI[HSB6I b. 7 sywIGsa C. 8 SWIBB6I

d. 9 syemiBsei e. alewL OxfNwaledenew

The ratio which of the following is not an equivalent ratio of g
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a. — b. 2 2 d.2 e. Answer not known

15 18 o 28 9
&6 2 6enn 6lHgH aNFHHD Z aeIB FHHIHBEG FwTel alHHD DELOTHHTH EHEHGD?
a. — b. 2 2 d.2 e. alenL OQFfNwelsvenev

15 18 28 9

107. Kumaran has Rs. 600 and wants to divide it between Vimala and Yazhini in the ratio
2:3. Who will get more and how much?
a. Vimala gets Rs. 240 more than Yazhini
b. Yazhini get Rs. 240 more than Vimala
c. Vimala get Rs. 120 more than Yazhini
d. Yazhini gets Rs. 120 more than Vimala
e. Answer not known
Gyl ep. 600 o 6Tengl, SiHewen ailweom WBBID wreldd SevLuled 2:3  eleis
aldpHHe0 LPMbHeNesBBTT ereflled Sheufled WMHEEG UMD DHBOTHS —SenLS@GLb?
61611616167

alweoralBg wrfeiemw el p. 240 SIFH&D FHedLHGLD

wrplels@ ealweomenel el h. 240 DIFHHD HleOL HGLD

alleuralBg wmflelenw el . 120 IHSWD Sl SEHLD

wmflefd@ albeurenal el h. 120 SIFHHD SHewL &G

alenL  OFfluiaisvensv

o0 oP

108. The ratio of the volumes of two cones is 2 : 3. If the height of second cone is double the
height of the first cone then the ratio of their radii is

a.2:3 b.2: 3 c.3:2

d.5:3 e. Answer not known

@ Smblle ST SleNeydaier alHHD 2 : 3 eleied BFeWILMeaUdH TFnlblledT 2 WFD (LPHEOTeUSH
bLlerr o wrsHmasBUTen BH WLMIEG 6Iele0, SlauBmle SLJmiseie alldgbd SSLD.
a.2:3 b.2: 3 e 3:2

d.5:3 e. alewL OFflwaisdeney

109. Malarvizhi, Karthiga and Anjali are friends and natives of the same village. They work
at different places. Malarvizhi comes to her home once in 5 days. Similarly, Karthiga
and Anjali come to their homes once in 6 days and 10 days respectively; Assuming that
they met each other on the 1st October, when will all the three meet again?

a. 31st of October b. 30th of October c. 10th of October

d. 1st of November e. Answer not known

weoTallyl, SMTHHST WLBBID Diehded FW cpaumd @8y HymwdHmadF GCFibhgh GFHTHsel.
BaTEe OeuaiBGoump B misefled Goueney GCFUIHGIBIT LOTANY 5 BT SEHEHEG Q(H(LPBUILD,
STMTHHBT  BBID  Diehded (WewpGw 6 wBBID 10 FIL&HEHHGH @ (WOBUID, SIEUTHLD
aiBBEHHS aUbH OFLOaUT. SDIAUTHET PaUHLD, SDIHCLIUT 1THD (PH6O [HT6T QEIBTHSF
FHHHBHMTHET 61660, eIl SieuTH6T 6TICUTH Q&IBTEF FhHAHILMTH6T?

a. 9108 31b Cxgl b. &15@LmuT 300 Cxd) c. 9&6LmuT 10D Bxa)

d. meubu 110 Cxd) e. alewL OFfwalsdensv

110. There are four Mobile Phones in a house. At 5 a.m. all the four Mobile Phones will ring
together. Thereafter, the first one rings every 15 minutes, the second one rings every 20
minutes, the third one rings every 25 minutes and the fourth one rings every 30
minutes. At what time, will all the four Mobile Phones ring together again?

a.7.00 a.m. b. 8.00 a.m. c.10.00 a.m.
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d. 11.00 a.m. e. Answer not known

R alliged HTeTE DMeVCUFH6T 2 6iTener. HTenev 5.00 LeWNHEE, 616060T DIeN6VELIFHEMHLD
QIBTH  PeISHGID. DSHSLNET  (PFHeL  SlemeoBudlwmengdl  ealeurm 15 B misefeibd
@reviLmougl  SleweoBudlwmengl eeubeur 20 HOLmSaNeID cpepraugs  SiemeuGuUEWTeig
@alOeurm 20 mllLmsefled cpeprougs DeweoCuFlwmengd @aQeur(h 25 B misefeuibd
OBBID  HTeTHToUSH  DeweoCuFwTengl eealbeumm 30 HOlmseaieb @edlddlamer eeoiev,
Slmed BewIBD 6TICUTSI &TBTES @eVldEGID?

a.7.00 p.u. b. 8.00 p.Lu. c. 10.00 p.L.

d. 11.00 @p.L1. e. alewL OHfNwaleenew

A book seller has 220 Maths Books, 380 Tamil Books, 420 English Books. He wants to
sell the books in a box, subject-wise in equal numbers. What will be the greatest number
of boxes required?

a. 10 b. 20 c. 30 d. 40 e. Answer not known

@T [HTeL alBusnerTent 220 Hewlld HIeOHM6MU|D, 380 SO HITeOSHMETUD, 420 SmIF6e0
BITEOHMEMUID  WeUSSIGTENTT. @albleur(h GuLiguieud uTL  euflenguwiInedd &b  sleuremntdemaulled
(eIl LML BIeOSM6NUD eveudbHdl alBs  alHwySmrT.  sefled, DIHSLLFOTE  615Hn60IL
CuLigseT CHemeuliLiBLd?

a. 10 b. 20 c. 30 d. 40 e. alewL QFflwaledenev
The L.C.M. of 78 and 39 is 78. Find their G.C.D.

a. 39 b. 48 c.59 d. 78 e. Answer not known

78, 39 gFweumpilen &M GUTH LG 78 eeiled WLIOLUM, OUTH G HS SHrewt?
a. 39 b. 48 c. 59 d. 78 e. alewL OQFNwealsvenev

A man purchased a cycle for Rs. 600 and sold it for Rs. 480. Find the loss percent.

a. 20% b. 120% c. 60% d. 80% e. Answer not known

QBT @ WgHleuemngenwt ¢h. 600 &@ eummidl . 430&5@& aIBBTeL gBUGBL HoYL FHaIHLD
SBIT60I5.

a. 20% b. 120% c. 60% d. 80% e. alenL QxfNwealsdensv
In a school, 820 are Boys and 60% are Girls. Find the number of Girls.

a. 1225 b. 1230 c. 1231

d. 1235 e. Answer not known

@@ Ueteflufed, 820 wrewieuTdEHDd 60% WTaETalBEHD 2 6lT6enmeit. 6lafled,  OTERTATH6N 68
6T6UIT6MT HENHENUIS  BHITCHIb.

a. 1225 b. 1230 c. 1231
d. 1235 e. alew OFflwaledensv

A man has 532 flower pots. He wants to arrange them in rows such that each row
contains 21 flower pots. Find the number of completed rows and how many flower pots
are left over?

a.21,7 b. 25,7 c. 26,5 d. 19,2 e. Answer not known

@ pUfLD 532 yhosT gser o eenerl. ST aflengdd 21 ybOsT pser aisbd DibHs
allplie. eaHHewen euflengsel (WM GUDILD 6leTeyld LOBBID  61HHMT  LHOSHTL 19H6iT
BHLO(HSBGSLD 610D SHTEUTH.

a.21,7 b. 25,7 c. 26,5 d. 19,2 e. alewL Oxfwaledenew

The appeal from the Federal Court of India established by the Government of India Act,
1935 was taken by

a. Viceroy of India b. Secretary of State for India
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c. King of England d. Privy Council

e. Answer not known

1935 oppdlwevenolig FULSHSHTL Bpeuiul L SULT S pHweamsdHeo Gwsd (wenmuilh
I(hSHHSH OFBmeTenill L Gl

a. @pHHU MEUOTTUITED b. @bFHw SIFESHHIMB CFUICOTENTTED
C. DRSeTHSH DIFFTTEL d. Gamoms L&BHHTED

e. alewL OFflwealsdenev

Consider the following statements:

In the words of Dr. B.R. Ambedkar, Directive Principles of State Policy are the “Novel

Feature” of the Indian Constitution because,

L. These principles are in the nature of general direction or guidance to the state

II. They embody the principles or objectives and ideals which Union and State
Governments must bear in mind while formulating policy and making laws.

Which is the statements given above is/are correct.

a. I only b. I only c. BothIand II

d. Neither I nor I e. Answer not known

BIDHBEWIL  UTHSILIBIBM6NTSH Heref.

Dr. B.gr. owBusbant smplwustags “ong auflearly Camur®ser, @bhHu iFgFemolifer

FLLSHS FHILL6D FaBTGD” eJoleresipmen,

L. Aem6al BTLIQeT UABTLIQUITS  SIENLOHSHIETETET.

II. HHW  OTH  DJ&EB6T HD FLLAIGMETLLD, OHmeTendsmenud SuiBpid GCurg
Bmar 2 _galwims G HEGLD.

BeuBnied 6151/ eTemeu  FRulTeTeneu?

a. [ @ b. Il w’ G c. I wmmd IT b

d.Ib Gevewev I 1D Sevemev e. alew OFHfwaledenew

was the first Indian to go to jail for having discharged the duty of a journalist.
a. Bal Gangadhar Tilak b. W.C. Banerjee c. Lala Lajpat Rai
d. Surendranatha Banerjee e. Answer not known
T usSFHfdmawrenyms  UalwmBRWsBsTed FoBdd DI@IIUILLL  (PHed
@b & WFTeuT.
a. umev SHISTHT 60T b. W.C. unenired) C. 6UT6OT 6UZQLIZ Ul
d. s@hArmErs umeTed e. alenL Gxflwalsdensv

“At the stroke of midnight hour when the world sleeps, India will awake to life and
freedom..” said by
a. Mahatma Gandhiji b. Jawaharlal Nehru c. Bala Gangadhar Tilak

d. Subhash Chandra Bose e. Answer not known
2 sl o mRHECETIYHISGL @bhd BHelalyey CBIHaHGn, @hHHWT  HeTenienL Ul
o WIGIM L SHCHTHD LoBE@ID HFFHHAT 2 ewiTeyL b aNHHIECBTHTHBHI 61601 FnpsileuT.

a. STHT HHI b. meuamimevred Gm(H C. UTeVL SMIBTH] HevHT

d. sumey ghdly Gumerd e. alewL OFfwalsdensv

Assertion [A]: Muslim League celebrated the “day of deliverance” on 22 December
1939.

Reason [R]: All the Congress Ministries in the provinces resigned in protest of

the Viceroy’s announcement on India joining the Second World
War without consulting the Congress.
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a. [A] is true but [R] is false

b. Both [A] and [R] are false

c. Both [A] and [R] are true and [R] is the right explanation

d. Both [A] and [R] are true, but [R] is not the right explanation

e. Answer not known

apu [Al: (WerdeSld 656 22 19aFIbuT 193960 ‘IS L] BTenTes’ GSBTemILmouigi.

sy [R]: Sbglwraiet EUGTOTU Bbglw Gz dlw BIBIBTEE
BHHTCOTASHMO0  @hHwTeyd  GrewiLmoug o evsll  Gumiled
BmMHHHTH  PISHHHANMD  DIDDHSH OT&HTE0T  SIHISITerd
SIJ FTHIGBMRISEIT SHMRISH6IT T NevT GeueflliumL s SIJFTHIS
CQUTEILITSS(HHEH  allevaeurT.

a. [A] #f, syemed [R] Heuml

b. [A] wimib [R] @yemiGo Heum

c. [A] wBmib [R] @yewiGo &M, Guwebd [R] gflwrer alendsomngib.

d. [A] wiunbd [R] Byemipn gfl, semmed [R] sflwmer alendsid o660

e. alemL OFfwalsdemnesv

Where was Hindustan Republican Association reorganized into Hindustan Socialist
Republican Association?
a. Delhi b. Bombay c. Lahore

d. Bhopal e. Answer not known

BhBHIVBHTEAT  GYUWTS FRISLD 6hG SbHHEVSHTEN FOSHMD Fepd GHQUISHS FRISLONS LB
Frens s L &1?

a. #Heved b. wibumul C. GUT&IT

d. Gumumed e. alowL OFflweisensv

“Acharya Vinobha Bhave, was selected as a first Sathyagrahi by Mahatma Gandhi”
after he completed the speech on
a. On 17t October 1939, when he was delivering speech in a village, near Lucknow.
b. On 17th October 1940, when he was delivering speech in a village near Wardha
c. On 17t October 1941, when he was delivering speech in a village near Gandhinagar
d. On 17th September 1942, when he was delivering a speech in a village, near Kolkatta
e. Answer not known

0 BOLOUBB gl LHHe0 o spgwrmpiw e smhdHluigset ougFammwur ellGemmur umGeu
SIUTHMET “(pHe0 FHHWTHTH” e1er CHTHOBHBHSHHTI.
1939-0 ouewi® SCLTUT 171D Cad ewsCamalBE DIHPBL 2 6Ten @ SHITOSHSH60.
1940-b Wi SIHCLIUT 17-0 Capd aunTiamalBE SimHEled 2 66N @ SHITOSH60.
1941-b WG HSCLTUT 17-0 CaHd HTHAHBHHBE DIHEH60 2 66N QH HITLDSHH 60
1942-1b w1 Gatbu 17-b Bxg O@TevasHSTalBE DiHEe0 2 66N @ HITDSHH 60
allewL  OFflwealedensv

a0 o

Defence Minister of Interim Government of India in 1946, A.D.
a. Sardhar Vallabhbhai Patel b. Baldev Singh
c. Gopala Krishna Gokhale d. Bala Gangadhara Thilak

e. Answer not known

&, 1946-D WG SLWLOLBB ML SSTe0 bW DFFler UTHISTIL DIMFSFTTS
Bwmbgeu.

a. &g eusveoLmul LILGL 6D b. wevBmel Fm

c. Gamumen Slmagewt CamaBev d. uTevsmIBTE) Hevsi

e. alewL Oxfweailedensv
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As a lawyer Mohandas Karam Chand Gandhi, got his first fees of Rs. 30, but he
refunded that to his clientin ___ court.

a. Bombay b. Delhi c. Rajkot

d. Durban e. Answer not known

GuraaIpTan HIDFHS SHMhHLH, HAT@IMLU UPSHBBIEHT (WGHEL QUHLOTEITS CLUBB .30 MUl
SHaTIenL W S o HTTHBHCH Gaiigey HmUls CaTGHBHIAILTT.

a. ubumul b. GL6vel C. ®yreBsmi

d. Lituesr e. alewL OQFfwalsdensv

Which of the following about Kamaraj are true?
i) He was arrested under Section 74 of Salt Act
He was released on March 12, 1931

He came to be closely associated with Rajaji during the election of 1926.

N N N
e e

Py ey
—e
~—

a. (i) only b. (ii) and (iii) c. (i) and (ii)
d. (i) and (iii) e. Answer not known
QWM@G)JGMG)JQ}@GD b FnMBBIBeT &STITT uBPEF Fflwmereneu?

OleuT o Uy L Wfley 74-61 &S1p gl OEulwiLL L.
ST omTEF 12, 1931-b e al(BHemev Gl uiulliu L.
ST 19260 ouewih  CHTHele0 JrTlulL 6T OBHEHIOTS el OFUIEOLIL B

[
e
e
~—"

—
j—_y

N N N
o T

QUHSITIT.
a. (i) w@w b. (ii) wmb (iii) c. (1) wpmib (ii)
d. (i) wmpiw (iii) e. alowL GFfwalsdensy

At London Museum, Dr. B.R. Ambedkar’s statue was attached with the statue of
a. Vincent Churchill b. Abraham Lincoln c. Karl Marx

d. Lord Bentick e. Answer not known

GUERIL 6T DIHRIST. AwissHHe0 LrsLT Ll.oyT.ouwlussrier  FHemev wmmenLw  FensoGuim(®
BememtHBUILIL (HEITeTG].

a. alaiogean FTFdle0 b. syysmb edmiser C. HMJ6L  LDT&H6r0

d. Guengmis 1Ly e. alwL  OHflwaisdensv

British arrested Subash Chandra Bose on 24th October 1924 A.D. and sent him to

Jail.

a. Tihar b. Andhaman c. Kolkatta

d. Mandalay e. Answer not known

&l 1924-0 sewih oiBCLIUT e 24-b Csgl, aumad ghdly Gumed S mISGWITTED
B CFwiuC G FleooBEFFTenevdE eI ILILILILLTT.

a. Hammr b. opgomes C. OBTEOBHHT

d. wrew_Gev e. alewL Gxflwalsdensv

Match List I with List II and select the correct answer using the codes given below the
lists:

List I List II
A. New India 1. Lala Lajpat Rai
B. The People’s Friend 2. Bipin Chandra Pal
C. Vante Mataram 3. Dadabai Naoroji
D. Rast Goftar 4. A.O. Hume

A B C D
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a 2 4 1 3
b 3 1 4 2
C 4 3 2 1
d 2 1 3 4

e. Answer not known
ucCguied I o Ler uliguied I |0 QuIpsHE, L 1puIddEhdh&HsS 6 o 6ten CFHTGLILN6[HbE!
gilwmer elewLulevernsd OCzfey GFuis.

U guied I U guiev 11
A. Py SphHwr 1. 6UTGUT eUERLIG FTUl
B. & diyeterd .. yewi 2. Udesr gphdly umed
C. aupBs wrHyb 3. srgmurul OpenGrred)
D. gmerol. Gam..umit 4. ..Uyl
A B C D
a. 2 4 1 3
b. 3 1 4 2
C. 4 3 2 1
d. 2 1 3 4
e. alemL OFfluaisoensv

129. Match and choose the correct answer from the code given below:

A. Bala Gangadhar Tilak 1. Voice of India

B. Dadabhai Naoroji 2. Madras Time

C. Macaulay 3. Kesari

D. William Digby 4. Minute on Indian Education
A B C D

a. 2 4 1 &

b. 3 1 4 2

C. 1 3 2 4

d. 4 2 3 1

e. Answer not known
Weteumeneumenml! QuThsha) gflwmer alenLemuld CHiTey GFuis.

A. urev BRIBTHT] HeOdT 1. @bFHwmaler Grev

B. srgmumul GpenGyred) 2. QoL gmerd emL Lberd

C. QuéarBsv 3. Gxa

D. aflevedwib 19819 4. @bHws seval GMISHSH GHMILIL®6T
A B C D

a. 2 4 1 3

b. 3 1 4 2

C. 1 3 2 4

d. 4 2 3 1

e. alewL GEMwealedensv

130. Match the List I with List II :

List1 List II

A. Puli Thevar 1. Siruvayal

B. Marudu Brothers 2. Dindigul

C. Gopala Nayak 3. Anamalai

D. Yadul Nayak 4. Nerkattumseval
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e. Answer not known
uluied Ied o eiteneng L puied I o et GQUTHGSHIS.

U 1guied I U 1guiev 1T
A. yeds Gmeu 1. fpieuuwied
B. wma sCansyirsein 2. Hewi[BHbdH60
C. Gamumev HTUISSIT 3. OLENEILDENGEY
D. wngled mrwsbst 4. QBBEL (HLOOFaIED
A B C D
a. 1 2 3 4
b. 4 1 2 3
C. 4 2 1 3
d. 1 3 2 4
e. alemL OFfwalsdemnsv
131. At which district conference, ‘Justice Party’ was converted into ‘Dravidar Kazhagam’?
a. Salem b. Kanchipuram c. Vellore
d. Kovai e. Answer not known
‘A Fwneng’ ‘HImalLiT SOHLTSH 6hH BLHHO BLbd LOTHTLIQE OTBBLLLL g7
a. Bgeuid b. srEhdLyb c. Gaugurit
d. Gameneu e. alewL OFflwaisdenev

132. Which of the following activities were associated with the Justice Party?
(i) It gave representation to Dravidian Communities in the public services.
(i)  The Government took over the power of appointing District Munsifs
(iii) Poramboke lands were not allotted to the people
a. (i) and (iii) are correct b. (ii) and (iii) are correct c. (i) and (ii) are correct
d. (i) and (iii) are not correct e. Answer not known

SIS BT auBmIeT HabaL Huller o ewenowimet LicwllaeT 61g17

(i) Qurgiiuemiseied Hmall WsHEHEGI LITHBHHHHeUD OHTHILG.

(il meul’ L paHugsemen HWBGGD GQUTBILIDL DFaFTRISG B®Is6CHTemIL ).

(iii) ypBWUTHE Bevhisamen WHBEHSE PBISSEH CFUILITN EHHSIBI.

a. (i) wL Gw (iii) sAwrerng) b. (ii) wi @w (iii) sfwrens

c. (1) i @w (ii) sflwmerg d. (i) wi@w (iii) seupTens

e. alewL OFflwealsdenev

133. During the Quit India Movement in Tamil Districts:
(i) The workers and common people participated in the movement.
(i)  In Madras, the women observed Hartals.
(iii) The workers of Buckingham and Carnatic mill involved in the strike
(iv) The Madras port trust, Madras corporation workers participated in the strike.
a. (i) is correct b. (i) and (ii) are correct
c. (i), (ii) and (iii) are correct d. (i), (ii), (iii) and (iv) are correct
e. Answer not known
SO meul L miseriled GeusenemuBGer GeuelCump BuisssHder CuTg
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i) OmfleoTeniTde LOBBID CUTHILSHET BbHH BUISHHH 6L HeObHHIH OBTEwIL 6.

ii) CFeenedt HHMev, CUeIH6T CUTHIBMIMED BHBISHHID CFUISHETT.

iii USHBIQBTD OBBID STHTLST Wed QHmiflevTeniTse Geuensv BMIGHHHH 60 FHLIL L 6.

v CFeiiener HMBLPS LemiwmenTaer BpID OCFeiener LOTHSIL  LiewiwmenissT Gauemev
PBISHSHHH60 FBHLLL 6.

i) i@ & b. (i) wBpib (ii) wGw &

i), (ii) b (iii) G & d. (i), (ii), (iii) wmpubd (iv) &

alenL Qg fualsoensv

AN N N N
N— N

a.

C.

e.

Assertion [A]: Extremism arose along with the Swadeshi Movement in Tamil

Nadu.

The leaders of the Swadeshi Movement became Leaders of the

People, whose speeches and writings aroused the masses.

a. [A] is true but [R] is false

b. Both [A] and [R] are true; and [R] is the correct explanation of [A]

c. Both [A] and [R] are true; but [R] is not the correct explanation of [A]

d. [A] is false, [R] is true

e. Answer not known

apsSse0 [A]l: 56sd BussHHIL 6T SHOWESH HaTUTHIPD SO HTHBSUIGI.

smyewid [R]: G505 DQUIES HEMEVTHEIT LDHBHET SHEMELAUTHENTS LOTNIET, EeuTaserledn
GU&GLD 6ISHSID EHM6T 6IFFUBTF CFUISSH.

a. [A] &M, suenmed [R] sHeum

b. [A] wiubd [R] &f; w@mpbd [R], [A] elBsrer sfwmer elendasid

c. [A] wpmib [R] &M; eyeomed [R], [A] alBasmer aflwner alenésnd ie060

d. [A] seum [A] &

e. alemL OFfluiaisoensv

Reason [R]:

Match the following Editors to their Magazines:

Editors Magazines
A. Thiru. Kalyanasundharanar 1. Deepam
B. Bharathiyar 2. Desabakthan
C. Bharathidasan 3. Vijaya
D. Na. Parthasarathy 4. Kuyil
A B C D
a. 4 3 1 2
b. 2 3 1 4
c. 2 3 4 1
d. 4 3 2 1

e. Answer not known

SHewILauBpleT S FflwTsamen SiauTHeler SFHDHEHL T CLT(HEHHDH:

i Fflui Bz
A. Fm.al.s. 1. &ub
B. umygwmit 2. CxpausbzHe
C. umygHsrgen 3. aflgqum
D. pr. unigganys) 4. @uied
A B C D
a. 4 3 1 2
b. 2 3 1 4
c. 2 3 4 1
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d. 4 3 2 1
e. alewL OxMweailedensv

136. Thirukkural says that it is a weapon that destroys the strength of the King’s army;
which is it?
a. Stringency and Punishment b. Harshly speaking and Tyranny
c. Anger and Tax of the Subject d. None of the above
e. Answer not known
LOGITEIIEUENIS] LienLalellenoenl DINSGHID QIS 61HI06UaTSH H(HHSGHM6T FnmISBH?
a. 5{bHEhOIFTEVID H6mIL eMETU|LD b. s®ehGFTeaID GCaTERIGHTeT Fub
c. dlenpld FHewmLIGLIT(HEHLD d. Guoiaranid eemaILD $I606V
e. alewL OxMweailedensv
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137. Which association later became justice party?
a. Madras Dravidian association b. Madras united league
c. Non-Brahmin movement d. South Indian liberal federation
e. Answer not known
b Slewoli LetenT BHHlbal fwms ormsiuig?
a. Gulgmed HymelL gmisd (Glgred Hyraller GsTdGuwigem)
b. Quigmed QEEIBmenhd FnlLewll (QOLITerd WeaTGLL 65d)
C. LgmoedT oieLeoTHTT @uibsld (et - LIgmbder (peiGoemr )
d. OsaibHu STTeTeUTs gl Ll (Fah Senguiat aluyed G Gyaer)
e. alewL OxMweailedensv

138. “__ Kaalam Karuthi Veruppil
Venduba vetpach cholal”
a. Gauge b. Taking c. Maintain
d. Avoid e. Answer not known

13

&Mool &(hH&H Geumitiiev

Gouamibu Geul LF GFTeLEL”

a. GPEUUSHBI b. @Lemibal c. Qummenyibal
d. elenerupbs e. alewL G flwelsvensv

139. Match the following books with its author:

Book Author

A. Parthiban Kanavu 1. Suradha

B. Tamizh Solai 2. Tamizh oli

C. Thenmazhai 3. Kalki

D. Vazhippayanam 4. Thiru. Kalyanasundharanar
A B C D

a. 2 3 4 1

b. 3 4 1 2

C. 4 2 1 3

d. 1 4 2 3

e. Answer not known
BIeOHM6T Sleumpslerr S FfwTdsEnL 6T CUTHIHSHIS.

HIT60 oy Ffluwir

A. uniigguent seey 1. &aysT

B. sipF Gamensv 2. 0D el

C. Gzeinoentp 3. @60

D. eaufitiuwientid 4. FHm.al.s
A B C D

a. 2 3 4 1

b. 3 4 1 2

C. 4 2 1 3

d. 1 4 2 3

e. alewL OFflwealsdeneo

140. The Self-Respect Movement represented, the Dravidian reaction to liberate the society,
from which evil practice?
a. Religious customs, practices and conventions
b. Religious customs, practices and caste system
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c. Religious conventions and caste system

d. Religious customs, practices and superstitions

e. Answer not known

bd S UWPSES aUpSEShISeTNelmbe, Fopsdmd alGallusBatsd SHImallTeer gwioflwmms
BWsHHHMSH (LPeiTellene0lILIB S et ?

D& FLMIGHD6I, FIDLNTHTUWIMIGSET LOBBID LOFLH6NT

I0& FLBIGHH6T, FDLITSHTWMISET LOBBID FTH  DIHLOLILHEIT

D& LOJLS6T LOBMID &7 DIeDLOLIL|SH6N

D& FLBIGHHB6T, FIDLITSHTUIMISET OBEHID CLPLBHLDLNSmSHSH6NT

alenL Qg fualsoensv

oo o

Which of the following statement about Thillaiyadi Valliammai are correct?

(i) She participated in the protest against the policy of Apartheid in South Africa at
the age of 16

(i)  She worked with Gandhi in his early years

(iii)  She died during the anti-apartheid agitation

a. (i) is correct b. (i), (ii) and (iii) are correct

c. (i) and (ii) are only correct d. (ii) and (iii) are only correct

e. Answer not known

FHlevemeowimy eueitefllwibento LB Fllwmen SnBenBs SnpIs.

(i) Qe lliTedsTaled Bell UTGUTLIYBE aHIms Saigl 16 auwded UBRICBHHHT

(i) sMmpHACWTE SJDUSTSHeD Gouensv GEFUIH6IT

(iii) @en UTEUILYBE a&ITe BLbS CUITTLL SHHCNCW Bmba GumeTeuT

a. (i) eeug &l b. (i), (ii) B (iii) &l

c. (i) wmpib (ii) wi G & d. (ii) b (iii) I Gw &

e. alemL OFfluaisoensv

Which of the following was organised to educate by the Madras Mahajana Sabha in
18847
a. Social Education b. Economic Education c. Political Education

d. Cultural Education e. Answer not known

1884-1b oyemi(h HimleuL L GOl [Jmerd LOABTEReT FUT, SHPEHBMIL BB 6lend SHBLINUSBHTS
® (HeuTdHSUILLL |7

a. Fpsd Heval LsL HouSBHTH b. QuIeMTHTIS Beva LBl HEUHBHTH

C. oflwed seval LSl BeudsBEHTH d. seurFamgs BHeval LB (HoUHBHTH

e. alemL OFfluiaisdensv

The following is not a reason for organising the Vaikkom Satyagraha

(i) To restore the rights of the Ezhavas and other untouchables in Kerala.

(i) In Kerala the Ezhalavas and other untouchables were forbidden worshiping in
temples.

(iii) In Kerala the Ezhalavas and other untouchables were not allowed to enter into
the public streets.

(iv)  InKerala the British Government Banned the Kerala Congress

a. (i) is correct b. (i) and (ii) are correct  c. (i), (ii) and (iii) are correct

d. (i), (ii), (iii) and (iv) are correct e. Answer not known

SPHETEDID el GHID MaUSHLD FHHWTSTHSHIBES HTTEOILOE6D.

i) Gxyenmalled @HHSH FOAITHET LOBBID BHT Hewll HHHTCHTT o Menidamen L CL (HdHH
ii) Gayenmmaled o _e6ilen  FIOAITHET LBMID B&F) Hewl HHHTCHIT BCasmalas@d 6lF60e0
SIS SHBLUILL 16L6m6V.

-~
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(iii) Gayemmeled o 6fen FpeUTH6T LBBID @AFJ SWILSHHTCHTT GUTSH B misefled
SIDIDHHBTHMSH BT H
(iv) eymdGeuwitael Gayent SRS TN HmL CFUISMS HEWIYSHII

a. (i) w Gw & b. (i) wBpib (ii) &f c. (i), (i) wmpw (iii) &M
d. (i), (ii), (iii) wBub (iv) & e. allenL G fwalsoensv
(This question and answer are to be placed before the expert committee for final
decision)

144. Valluvar rightly compared those saints who cannot control the mind and enter into
actions not suitable to their saintliness says the following;:
(1) Puliyin thol porththu Meithatru
(2) Puthar Marainthu Vaettuvan Pul Simil Thatru
a. Comparison (1) alone is correct b. Comparisons (1) and (2) are incorrect
c. Comparison (2) alone is correct d. Comparisons (1) and (2) are correct
e. Answer not known
gau  GeuLlb IYemihosTeni(h, WAIHMS DILSGWD 6UelmOUNVTIDE, SHUSSHBESL  LBLOLITET
SIUFOFWeOBMeNF  QFID  WwHGaL HTiselear  CFwemey  aUGTEHEUT  616IB 2 _EUENLDSHENITE0
alenSGHHBIT. BbamBrled
(1) yelwleBmhmev Gumiidg GuibsByl
(2) ust weBHS GeulGeustt et Fidpd SBHI
a. 2 auemwo (1) WG & b. o _suemwaei (1) wBpibd (2) eyl SyewiBL SHeupl
C. 2 _auemip (2) LB &l d. 2 euemwasen (1) wBmIDd (2) P ByewiGn &
e. alemL OFfluaisdensv

145. Idea denoted in the following Kural is
Aakaaru Alavittai Thaayinung Ketillai
Pokaaru Akalaak Katai.
a. The Kural denotes how bureaucrats should treat the people.
b. This Kural propounds that out Goal should be big in life
c. This Kural brings out the formation of Friendship
d. This Kural is deeply connected to the economic thoughts
e. Answer not known
SHHTEID FH(HHGMmeT GeualiLbheHSID FhsHmearmuwl CsHTs
s Senall L HTulaid Bsigsdensn
a. @s@meled FHaTiseT CQUIGZISSTILD  6luy  BLBSHIOSTeTen  CouewiBd  6T60IM
HEIEUIL GHemd LIFeuTalu|eeng)
b. Bé@meied ambsmsuled Qewdd OUNHTed Bmbs GalamiBd 6B FHHMm 2 _6TeNd.
Cc. @s@mefed HLUGHTeTEHH0 LBBW HbHemer LHeurdluleengi.
d. @sepeied QuTmeTaHTIF dhHener BHHS MBS
e. alewL GEMwealedensv

146. Statement [A]: Peelipey Saakaatum Achchirum Appentanjch Chaala mikuththup
peyin.
Reason [R]: The Kural hints at stating that if a king considers his enemies as

small and weak and fight against them. These small and
considered weak will gather their force together to become strong
and powerful and thus defeat him. Valiyarithal chapter carriers this
Kural.

a. Statement [A], Reason [R] are correct, But the reason [R] is not a correct explanation.

b. Statement [R], Reason [R] are correct but Reason [R] is a correct explanation.

c. Statement [A] Kural is incorrect; reason R is correct.
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d. Statement [A] Kural is correct; Reason [R] is incorrect.
e. Answer not known

AUBHSHTTHEEMUITEITED H6T eUleNLDMUI  ELPLILITEIT.
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ammul [A]: “BelOuut TarBld SIFHDID SIILIGRTL 6h
gmev 10GSHSII Guufer”

amyewid [R]: Bd@met  LINHETHH0 Sjewll eIy FnpleuT.  eueIWINNHe0 6T
DFBMHHL  DEGWeT DL IDOUBISIBHI.  OGTEINT  LOBBEUTHENEIT
eleMweuGyesTmI LIen & O\BIT6wTL_ M6V, DIUTEH6NT Fal L IDT&HF Gairhg

a. gmml, [A] smyewid [R] afl eyeimed smyewnbd [R] sfwmen Qurgmer Siei)

b. a@m [A] smyewid [R] &M anpm [A] -eydb@, sryenid [R] sflwmer QuI@mer Su@Lb.

c. apm [A] — @meT Heuprengl, @myewid [R] sflwmerg

d. spp [A] - @per sflwrerig, styenibd [R] seumprearg

e. alewL OFflwealsdenev

Match

A. Iraththalum edhale polum 1. Avaranna Oppari Yankanda dhil

B. Irappan Irapprai Ellam 2. Irappir Karappar Iravanpin enru

C. Makkale Polvar Kayavar 3. Karaththal Kanavilum Thetradhar Mattu

D. Seerudai Selvar Siruthuli 4. Mari Vara Koornthu Thalaiyar Thulaithu
A B C D

a. 3 4 1 2

b. 3 2 1 4

C. 4 2 1 3

d. 4 3 1 2

e. Answer not known

QUTHSHSHIH:

A. @rHseud #5860 Gumeuid 1. Sjeugeiied eUILITH WITHIS 6L 560

B. @yliuet @yliumeny  6T6060TLD 2. @yuB syiunT @Jeuesidler eIy

C. wssBem GumTebeuT ST 3. BI5HFH60 Havaled CHBMTHTT Lom (H

D. gFmend QFevaum FHmigier 4. 1omfl 6UTd SniMbBHme! HiML Sl
A B C D

a. 3 4 1 2

b. 3 2 1 4

C. 4 2 1 3

d. 4 3 1 2

e. alemL OFfluiaisdensv

Match the following

A. Thaneer 1. Thoppil Mohammed Meeran

B. Karippu Manigal

C. Kal Maram

D. Saiyvu Naarkaali

2. Asoka Mithran
3. Rajam Krishnan
4. Thilagavathi

A B C D
a. 1 2 3 4
b. 4 3 1 2
C. 2 3 4 1
d. 3 1 2 4

e. Answer not known

QUTHSHHIB
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A. Fewienfi 1. Gamiiled (pslpg LSFT6sT
B. afliy wewllsei 2. oBzns 10&HH e
C. @ebwyId 3. JTID &(HAR6uT6s
D. snuiey prBsted 4. FHevdpeud)
A B C D
a. 1 2 3 4
b. 4 3 1 2
c. 2 3 4 1
d. 3 1 2 4
e. alewL Oxfweailedensv

149. Who is praised (and celebrated) in the following quotation?
“Vasana nadai Kaivandha Vallalar’
“Vaidhalum Vazhuvindri Vaivare’
a. Vallala Ramalingam Adigal b. Aarumuga Navalar
c. Paridhimar Kalaignar d. U.V. Swamynadhar
e. Answer not known
‘QUFT HEOL MBEUHSH GUGITEIT6OMT
‘meuSHHTID cUpallens eneueur@y’
61601 GUGTTETEVTEN] LISLDH&I LITIQUIGUT  WI(T?
a. 6U6TeNeL BJMDEIHIBLD  DIQEH6IT b. euBi(Wws BHreusvT
c. uflgHoTs HemevEhT d. 2 Geou. gmOprsT
e. alemL OFfluaisvensv

150. Match the following.

A. Sarukkam 1. Seevaga Sinthaamani

B. Ilambagam 2. Bharatham

C. Padalam 3. Silapadhikaram

D. Kaandam 4. Kambaramayanam
A B C D

a. 2 1 4 3

b. 1 2 3 4

C. 4 3 2 1

d. 3 2 4 1

e. Answer not known

QUTHSHHIB

A. FmHéHmID 1. Fous Sbapmiemnt

B. ®evibusid 2. UMI&LD

C. uLeobd 3. deoluglamyid

D. smewiLib 4. &SIDUJTLOWIGmTLD
A B C D

a. 2 1 4 3

b. 1 2 3 4

C. 4 3 2 1

d. 3 2 4 1

e. alewL OEMwealedensv

151. According to whom, the Harappan script is not alphabetical but mainly pictographic in
nature
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a. J.P. Joshi b.S.R. Rao c. R.S. Sharma

d. N.G. Majumder e. Answer not known

‘amrliuet el(WSHSIFeT SIFE euflewalilg eV LeTTed FHHTeualuIeoLIy DILDHSI6TENSHI’
6IeTLIGH] WIM(HeDL W Fniml?

a. Gm.0. Gmrag b. erer0. oy, g6l C. SYT.6l6r0. &TLom

d. eerg). weSibgmit e. alewL OHfNwaledenew

152. Choose the correct answer
1. The author of ‘Chivaga Chinthamani’ Thiruthakka Thevar belonged to the Chozha
dynasty and he chose to become a saint.
2. Chivaga Chinthamani is the first Tamizh epic written in the form of ‘Virutham’
3. Thiruthakka Thevan is also the author of book, “Nari Virutham”.
4. Chivaga Chinthamani consists of 12 ‘Kalambagam’ 2000 poem:s.
a.1, 2 and 3 are right, 4 is wrong b.1, 2 and 4 are right, 2 is wrong
c.1and 2 areright, 3 and 4 are wrong  d. 1 and 3 are right, 2 and 4 are wrong

e. Answer not known

gilwmer allewLenwd CHiTs.

1. Fousdhamwen] QuBPw HHssEE5CHT Gamp os wINePTL SBHEH  SIMBeUBLD
L, 600TL_6IT

2. FousdhamwenlCu alhiHHHH0 DMWHS (PHeL SIDL GLIHRISTILIWLILOTEGLD

. A HHHHHHCHUT Blal(HHSID CIAIMID HlENEOWITENID [HITeD QETMBUD EUIMBIGIHETEITT.
. FousdhaToen LieTealfeni(® SeDLISHRISNTUILD @il MUl LITL 0HN6NULD 2 enL WG]

3
4
a. 1, 2, 3 gfl 4 syl b. 1, 3, 4 &f 2 Heum c. 1, 2 &f 3, 4 euml
d. 1, 3 &M 2, 4 syl e. alewL G flwelsdensy

153. “Koorvael Kuvaieeya moiymbin
Thaervan paarithann paramby naadae”
in which poem do these lines appear?
a. Pathitrupathu b. Patinapaalai c. Puranaanooru
d. Aganaanooru e. Answer not known
“FnTBaled GHemeu@ul GiomuibLilesr
Gxpiteuemr Lmfigemwt LmbL BTG
610D LML 6D ojlg G DOILGID [HIT6D 61517
a. ugBBILUSS b. ulgeriLTeney C. LBBIEmml
d. 9pTars e. alewL OFflwaledensv

154. The literature that reveals Kanchi had become a centre of Buddhist learning is

a. Manimegalai b. Purananuru c. Silappadikaram
d. Ahananuru e. Answer not known

USSSHSHH 6 Heoallenlowlons STehd GmbHmsd ST (HLD Bevdbduibd?

a. wenlGLsmev b. uspETETHI c. Feoluglamyid
d. o=pIEIH e. alewL OFfwailsdensv

155. Which flower triggers the debate of accepting “Nedunelvaadai” as that of belonging to
“Agam” or “Puram”?

a. Palmyra Flower b. Neem Flower c. Fig Flower

d. Ixora/ Vetchi e. Answer not known

OBBHeLTML.  ‘DIHWT? LBLOT? 6160B aleuTHSHHMBGHE HTTERILOTET LO6VT 61&HI7
a. ueutibyy, b. Geutbyy C. 9I5F

d. Qeuldl e. alewL QFfwalsdensv
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156. The Marathi fortnightly newspaper ‘Bahishkrit Bharat” was started by
a. Ambedkar b. Mahatma Gandhi c. Jyotirao Phule
d. Kaivartas e. Answer not known
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ITHHUled  @rewid  auMIHHBEG @ (Weop  Geueflwm@d usHfenswmear  ‘Lasladdms
UTrSHeng’ O TLmIg w6

a. Bug e b. warHwrs SHTHSH c. Gmrglymen 1480

d. ewaeauTsmerd e. alewL OQFfwalsdensv

Which is the sub-plot that is not narrated in Silapathigaram?

a. Porkai Pandian Kathai b. Aadhirai Varalaru

c. Nalangadi Poodha kadhai d. Urvasi Saba Varalaru

e. Answer not known

FeOlILFHBMTHH0 QFTEOOLILILTSH FHenendbsmsd 61517

a. CuTBeNSLI LITERIQUIT HM& b. eyHewy euyevrm C. BTONRIGBMG LLHH HMHDH
d. eafteud &Tu euyeOTH e. alewL OFflwaisdensv

In the Thamizh literary world, what is know as ‘Pariksha’?
a. N. Muthusami’s Koothu-p-pattarai

b. Gnani’s drama troupe

c. Amshan kumari’s ‘Cinema Rasanai Kuzhu’

d. CS. Chellappa’s “Ezhuthu Ilakkiya Kuzhu’

e. Answer not known

SOD DevbHWF Gpedled LIFHART 6leiLIS]

a. b. WPSHHFTOWTE0 OHTLRISULILL BTLSS G(D

b. @prefwimed OHTLBISUULL BT &H G(D

C. OIDAGET GHLOMTITEL OBHTLMISLILIL L Flefllom o6 G(1D

d. d.g GgeveoluTeauTed ‘QHTLBSIILLL 6I(1DBIH BevdHdluis Gy’
e. alemL OFfluaisoensv

Who was the archeologist, who first excavated the Pandya’s Pearl market?
a. Nagasamy b. Caldwell c. K.V. Raman

d. S. Paranavitana e. Answer not known

abeHdH  OFHTeoOUmmHeT TS WTenT  (PpHedled  LTeWIQUITHeTNeT  (PHHIF  FhenHemld
&eniBLIgSHSHTT?

a. [BIsFmo b. smeoH6aI60 c. Bs.ai. Fmpesr

d. ererd. uyewIalHment e. alew GFflwialevenev

Reason and Assertion type:

Assertion(A): - Tamil rulers patronized Tamil and Tamil poets in their courts.
Reason (R): - The words mandram, Avai, Ambalam and Mandru were used for
Kings Courts.

a. (A) is true but (R) is false

b. Both (A) and (R) are true and (R) is the correct explanation of (A)

c. (A) is false, (R) is true

d. Both (A) and (R) are true but (R) is not the correct explanation of (A)

e. Answer not known
AUIWMBISHSH60 LOBBILD SHTT6EWILD 6UMS:

aulupissHe0 (A): - SOs S AweniaeT SO WLBBID SO  LeVETHMET  DIeUTH6I
SImeUUTL  DLHTE6IT HFH6MT.
smyenid (R): - IDGIBID, SlMel, SIbLED BEID ey CuTEB  CFTBHET  SITF

Slemauued LWSTLBHSHSLILIL L Si
a. (A) eetiugl o _ewien emmed (R) ereiug seupl
b. (A) g (R) Beneu @yewido o emienw wBBID (R) eeiug (A) uler sflwmer elemdsibd.
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c. (A)eaiug souml (R) ereiug o ewenio

d. (A) wppid (R) Beweu ByewiGd o evenwwireng opemmed (R) eesiugs (A) ulles  gflwimer
alleNbeHID  SI6D6V.

e. alewL OxMweailedensv

What basic need does [AY fulfill?

a. Water b. Clothing c. Housing
d. Food e. Answer not known

olaitedl SlglillenL & CoHemeuenw! LTHd GCFuispg?

a. SHeuwrewi b. sy c. ai®

d. 2 _ewiey e. alewL Oz flwalevensy

The major objective of Pradhan Mantri Krishi Sinzhayee Yojana (PMKSY) is to achieve
a. “More crop per drop” b. Agricultural credit available to farmers

c. Crop Insurance d. Crop Improvement

e. Answer not known

Wy wpHfl dfed dargtul HLsHar (PMKSY) Gprésd, s oL Geouemi(hd?

a. 6aloeurm slefld@d SHs LulT b. smaisa alaFmulseEbdEGd alaudTuld Sl 6l
c. uuitéd amii® d. wuiit euen&d/ (eGeaBmLD

e. alemL OFfluaisvensv

Which of the following is/are correctly matched?

1. Minimum Wages Act - 1949
2. National Textile Policy - 2000
3. Steel Authority of India Limited - 1968
4. Workmen’s Compensation Act - 1923
a.land 2 b.1and 3 c.2and 3
d.2and 4 e. Answer not known
£Lpa3a3rr6wum6uu_ﬂm o151/ eTeme @urr@g@wrras 2 _giTengl?
. GOBHIHULF oamFHlF FLLID 1949
2 Bl Meyefld GETeTensd - 2000
3. @bHw 6. Hmieued - 1968
4. Oxpmpeoreniaer @OUNIBEF FLULID -1923
a. 1 wmynd 2 b. 1 wBmib 3 c. 2 pmib 3
d. 2 @b 4 e. alowL Oxflwaleveney

With reference to the government’s welfare schemes. Consider the following
statements:

1. Under the Antyodaya Anna Yojana, the food grains are available to the poorest of the
poor families at Rs. 2 per kg for wheat and Rs. 3 per kg for rice.

2. Under the National Old age pension scheme, the old and destitute are provided Rs.
75 per month as Central.

Which of these statements are correct?

a.1only b. 2 only c. Both1 and 2

d. Neither 1 nor 2 e. Answer not known

SITFTRISHHT HevHHL L misemernll LB, Llereumd DIipfldbamasdamend SHeu6mumigbe.

1. opsBwrsur oeer  Curmenm  FHLGHHT S, o W6 SHTONLRISET  JempdH
GBULURIBaT60 © 66l gmPHEhHEG GCamHiemn HCeom amIdE 2 aputwd, Sfld  SH6eur
REIMISHEG 3 HUTULLD
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2. BxpAw wHGwnT guisydHuwd S LSHar S wWHCWTT oBmId NHTUBCBTHES h. 75
WLHHUW  @UIGYHWIDTS, GULHLUTEOTET  LOTHL  DIFHFHET  UPRIGLD CHTMHEGHD FnBHHEVTH

QUPRISLILGSBSI.
BIPHHWIL FnBEIH6Me0 elemeu &Fifluimeg?
a. 1 wl’ G b. 2 w' @ c. 1 wBmb 2 GyewiHn

d. 1 By 2 Bevenev e. alewL OHfNwaleenew

165. The whole village was treated as a unit as far as payment of land revenue is concerned.
The system is

a. Ryotwari b. Zamindari c. Mahalwari

d. All the above e. Answer not known

Bev aumaUTU! OFISHBHIIMSL CQUTBISHHEUMT (LY HITOIPD QH DIVBTHS HHSLILILL
SbS (P

a. Srwgeurf b. e C. LoamevLeUI

d. Cupenss masaid e. alol COafwalsiamsv

166. The rationale for setting up of UPPAL Committee is
a. For accelerated rural electrification programme
b. To resolve problems in cattle fodder
c. Integrated pest management
d. Survey of waste land
e. Answer not known
‘UPPAL" @uwemes SenwlusB@&s STyeunid
a. 2ars LOEIOWIDTSHSHE0 FHILSHMSHH SIfSLILBGSHSHINSI
b. smeupmL Houar FbB0BM6NSH HTdbd
C. rEIFmanbd LFF Geomewnientd
d. sl Peomismer uie| CFuiag
e. alewL OFHMwealedensv

167. Who is the Chairman of fifteenth Finance Commission of India?

a. N.K. Singh b. Dr. Y.V. Reddy c. K.C. Neogy
d. K.C. Pant e. Answer not known

@hFHwraler LHmabTeauds HHd GHUpaller SHemevauT uwimr?

a. N.K. dm b.Dr. Y.V. Qpli c. KC. pewrd
d. K.C. ups e. alewL OQxNwelsvenev

168. Which of the following statements is incorrect?
1. High birth rate and low death rate is known as population explosion
2. The ratio between working and non working population is dependency ratio
3. National Family Planning Programme was launched in 1948
a.1only b.1and 2 c.land 3

d.2and 3 e. Answer not known
etteu(pld eumdbSwmiselled 61g Heupmerng?
. 91895 Uply al&sbd wwBpld GHoBhd BBl alslsd WwdHHeT CFHTemd el 6TaIm

SIMPSHBLILBH MBS

2. GBeouewev OGEUILTHEEREGLD Gouemev OCFLILTHATHEHSGHD SevLuleomer aldlFHd &y
al&lHLoTGLD

3. 1948 oub suemih CadFlw GOHbus SUGUUTL(BS LW CHTLRmSLIULL G

a. 1 @ b. 1 g 2 c. 1 wBmb 3

d. 2 By 3 e. alewL OsfNwaledenew
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The Book ‘Planning and the poor’ is written by

a. Shriman Narayanan b. M.N. Roy c. Mahatma Gandhi

d. B.S. Mindhas e. Answer not known

‘FLLOL6D oBMID LMD’ TeID LjSHSHHLID SIGUTHENTEL 6T(SLILIL L Gl
a. WJLDGIT [BIJITUIGH0T 60T b. enb.eredr. gmul C. LDSTHLOM &HMbHI)

d. d.ererd. esrammerd e. alewL QFfwalsdensv

Match the List I with List II and select the correct answer using the codes given below:

List I List II
A. Employment generation programme 1. Minimum needs programme
B. Social Assistance programme 2. Swarna Jayanti Shahari Rozgar Yojana
C. Human Development programme 3. National Family benefit scheme
A B C
a. 2 1 3
b. 1 3 2
C. 3 1 2
d. 2 3 1

e. Answer not known
uCguied I woppid uluwed I &, Gumpsd S6 CaTGsHsIUL (BeTen Fhwmer  allenLemul
Gxitey GFUIH

U iguiso I ulguied I
A. GouemeveumuiliL] o (heuTdbdd S L LD 1. @oBHd UL Chpemeuser Sl LD
B. s o2 sails SHLLD 2. eroeutemt Ggwibg FanTiGrmervaT Guimeget
C. waig Gubur’ BdH SHL LD 3. B8 @@BWU B S LD
A B C
a 2 1 3
b. 1 3 2
C. 3 1 2
d 2 3 1
e. alemL OFfluiaisvensv

The 86th Amendment of the Constitution led to the inclusion of a new that
made free and compulsory education to all children of 6-14 years of age.

i. Article 21 - A

ii. Article 22 - B

iii. Article 23 - C

a. (i) only b. (i) and (iii) only c. (i) and (ii) only

d. (ii) and (iii) only e. Answer not known

SIrFwevemol el  86-6ughl HHHSHD, 6-14 UUHDLU DDNHBH  SLHMBHBEHHGHLD BeveudF
BB SLLTWES Heval 6lems LS aild(pens oW CaTds aufleudHssHdl.

(i). Ufey 21- A

(ii). Ufey 22 — B

(iii). fey 23 — C

a. (i) @b b. (ii) @b (iii) w’ Ho c. (i) wmmub (i) L G
d. (i) wpg (i) wi ED e el Gsfwalsdensd

The Gandhian model aims at the reform of as the most important sector in
Economic Planning in India.
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a. Agriculture Sector b. Industry Sector c. Service Sector

d. IT Sector e. Answer not known

sMhHW  wrgHflwmerg bHwmaled CQuTmHemTHTy SO edar W& (PoHSWIDTET  SHMBUITS
o FTHmbBHamd CHTHHIOTHD 6HTw (BN

a. alleusmusdh Hlenm b. GsmPsd Hiewm C. uemildh Hlewm

d. sz Gamfempl ush Hop e alomL Gafwealsbensy

173. of Constitution gives special status to Jammu and Kashmir from 1954 to 2019.
a. Article 230 b. Article 370 c. Article 480
d. Article 560 e. Answer not known

afwevenoliyF gL Odfley 1954 (1pzHe0 2019 euemdy MID(IP WBBID SHTASHDBESGHF
FApliy SIbHevS PRSI
a. fley 230 b. fey 370 c. Ufley 480
d. Ufley 560 e. alewL OxNwealeoenev

174. The major objective/s of the government to setup the Planning Commission in India are
(i) To promote a rapid rise in the standard of Living of the people by efficient use of the
resources of the Country.

(ii) Helps to increase the production and offering opportunities to all for employment in
the service of the Country.
(iii) Do not have the responsibility of making assessment of all resources of the

Country.

a. (i) only b. (i) and (ii) only c. (ii) only

d. (i) and (iii) only e. Answer not known

@hHwraled HLd Gomer SMLILSBSTRN HJSFTRISSDHT (phHW  CHTeHemIS6NTe6T
wirgl?

(1). BILIQET 6ITHRISMENTS  SHMenWTEL  LWSTLUGSHIUSHT  Lpsold  oHH6eMelT  euTDHMmB S
FHIHFHe0 alenyeurert (LHeTCHIBBHMBS ©O\BHT6wT(H6U([HIH6D

(il). o _pusAHmw DFEMNES 2 HaIHeL, BT Q6T DMTHSHI LiewHeMNID  DIeN6T6(HEHELD
Gameuev QUTUILILIBEMET  ULDMKIGEH60

(iii) mIiger  SeneihdH  eueNmGMmeNUL  LHIG  Geww  Geuemngw  GUTBILIHL
dBSHHIH0HTeTen Gouemrguigdl Ee0enev

a. (i) w6 b. (i) wBmpb (ii) G0 c. (i) i (B

d. (i) wspd (iii) wiGd e el Gaflwaisdemso

175. is not the main objectives of special economic zone
a. Generation of Addition Economic activity
b. Promotion of Export goods and services
c. Creation of employment opportunity
d. Reduction of Income Inequal
e. Answer not known
SAmly QUIHETTSHTT  LOGWIL 60601 CpToHsd D606
FnBHHe0 OUTHEMTSTY [BLOUQYHMNBHEIT 2 (HeUTdFHH60
gBmIng QuTHL &6 WwBHID CFemeuseT OLIHSHEHLD
GouemeveumuiLiL] 2 (HeUTEEHSH60
AUHAUTUI FLOSHHIOILOITENLD (G6eNMBEHH60
alemL  Ogfluialsoensv

P an oe
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176. Identify the article in the Constitution which provides reservation in services to the
scheduled castes and scheduled tribes for not being adequately represented.
a. 331 b. 332 c. 334 d. 335 e. Answer not known
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STDSSLILLL  Bpid  UpkGuier Wéasend@l Curgiorear LUrSHBasHsed Ee0eomenoemul
sfweveniolilen 6hgd o L Lifle CFameuseled B HIHSL 19606 aULDHIGS B
a. 331 b. 332 c. 334 d. 335 e. alenL  GaMuwalsvemev

(i) Tamil Nadu Slum Clearance Board set up to improve the lives of the poor.

(i) It is now known as Tamil Nadu Urban Habitat Development Board.

(iii) It provides housing for all in Urban areas.

Which of the above statement is/are true with regard to Tamil Nadu Slum Clearance
Board?

a. (i) only b. (ii) only c. (i) and (ii) only

d. (ii) and (iii) only e. Answer not known

(i) ogowseiest eampsmamw  CubUBHS SODBTH GYosFiugd  LIBB  eurfluwbd
DIMLDSHSBLILIL LS.

(i) ®a sBGUTEH SWOWDHTH BHTLB eumpail GobuT G eurflwb 6y SimPsSEILGSBSI.
(iii) maTUBhseied SimearaumsEld aib UPHIGSBSI.

SODHTH Gmaliugd Byl eurfwibd CHTLTUTE CuBdmpiu DfidmesHeriled 6% 2 ewienin?

a. (i) w @ b. (ii) wl Bw c. (i) wmmi (ii) wr Gib

d. (ii) wmmiw (iii) w G e. alewL  Ozfwaisbenso

Assertion [A]: Social movements have varied in scope.

Reason [R]: Many movements are limited to Local Policies while others have

been international in their focus.
a. [A] is true, [R] is false
b. Both [A] and [R] are true and [R] is the correct explanation of [A]
c. [A] is false, [R] is true
d. Both [A] and [R] are true but [R] is not the correct explanation of [A].
e. Answer not known
ammum [Al: Fepd  OUIBSBIGH6T ITUINIOILEVMEeVE6TE GoumILiL 19 H eimset.
amyewid [R]: LY BUIbBBIG6T 2 6liehT Csmeims enalGeBu Emba auhHa et
SICxHFIWILD, WBBeme FTaUCHF Siemaled Heueid OlFeVIdh3HIHHIBeT.
[A] afl, syemed [R] seums
[A] @b [R] Byemi gfl, Guweid [R] ereiug [A] eliarer gfwmer allenbasion@ip.
[A] Heuml, sypermev [R] gl
. [A] wBubd [R] @yewio gf, epenmed [R] eresiugl [A] elB@ aflwner afendsinoeoen.
e. allewL G flwalsvenso

an o

Choose the right answer:

Total fertility rate measures

a. The number of live births occurring during the year per thousand population.

b. The total number of deaths per year per thousand population.

c. The number of women of reproductive age dying due to maternal causes per one
lakh live births

d. The number of children born to women during her entire reproductive period

e. Answer not known

gilwmer elewLenwd BHiTey GFuIs

CTHHd HHOYHBHL AIBHBHD SleMalBLD (LPEDHBHSEIT.

a. 1000 &56MOSHTMHESG @h UBLSH Bawd Cwry LIpliysefler eewmiemidmae

b. ouinh woHEeT OFTMEHEG @ MBLSH BEd CTds BBliyseler sewenishma

C. @@ ool g Uplysefed SHTuleufl STJewibisenTed EBHEGLD @eIOUmHSS  eUUISHIDL W
Qe 66T 616v8T6m1 & 6m
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d. Quemiseiesr (1) BNIGLBHBHDH BTOSHHMID LIBHS GLDHDSHEMNGT  slewTenilsHemnd
e. allewL G flwalsvenso

Which of the following is incorrectly paired?

[. TNSWAN - Tamil Nadu State Wide Area Network

II. TNDRC - Tamil Nadu Disaster Reconstruction Centre

III. TNeGA - Tamil Nadu e-Governance Agency

IV.TNSDC - Tamil Nadu State Disaster Centre

a.land II b. IT and III c.lTand IV
d. I and IV e. Answer not known

Leau(heussteuBplied 6% HoumTsd EenentdbaLILL (HeTerng?

I. TNSWAN - SWOPHTH  1OTHev GUIIHDUTLIL 6U6me0WIGNLOLIL

II. TNDRC - SOBTG CuilLT mIFFenLoli e»LowID

II. TNeGA - SODBTH  LO6IT-DLEHENLD  (LHSHEMLD

IV.TNSDC - SODHTE  wrHev GufLT emouid

a. I wmpd 11 b. II @b 1T c. IT By IV
d. III w@end IV e. alewL OgMwalsdensv

Who is not the member of recommending committee in the appointment of Chief
Information Commissioner by the President of India?

a. Prime Minister of India

b. Leader of opposition in the Lok Sabha

c. Chief Justice of India

d. Union Cabinet Ministers nominated by the Prime Minister

e. Answer not known

Weteupd o mitilenTgefled  wnm  @GQWIs HmeoauJmed BUWLOGSLILGLD — HEmeVeDID  HBH6U6D
ST UHaldsTer UflbsHmrs @Grpaled SLLb GCLBTSHe?

a. ®bHw LysLor b. wésenemer eFTEsl ddh SHemeveuT

C. @hHWSH HMeVMD BHAILIG d. dgsopmed Pundssiul L wsHW SIenFT

e. allemL G flwalsvenso

Choose the right matches.

1. TANCEM - 1976

2. SIPCOT - 1965

3. TANSI - 1970

4. TIIC - 1949

a. 1 and 2 are correct b.1 and 4 are correct c. 2 and 3 are correct
d. 3 and 4 are correct e. Answer not known

SpsemiLeupmie FRwmsl QUTHSSLILL HeTonendd CHTHOHBHHS.

1. TANCEM - 1976

2. SIPCOT - 1965

3. TANSI - 1970

4. TIIC - 1949

a. 1 wBpib 2 & b. 1 wppib 4 g c. 2 opmib 3 &
d. 3 @b 4 Ff e. alenL  GaMuwailsvemev

How many features of the immunization programme issued by the Central
Government of India on 19t March 2020 are being actively followed by the
Government of Tamil Nadu?
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a.6 b.9 c. 10 d. 12 e. Answer not known

@hHwmaled WHHW SFmhEHSHTeo 19 WwITF 2020 Sem Geueflull L, edhHemer GpBTUIS
SGUY aufl(penpaamend HUOWS DIs SHalyorsll Nemnpl eurmaimpg?

a.6 b.9 c. 10 d.12 e. alenL  GaMuwalsvemev

A welfare state can be characterized in terms of the following functions:

1. It guarantees individuals and families a minimum income irrespective of the market
value of their work or property.

2. It narrows the extent of insecurity by enabling individuals and families to meet
certain social contingencies.

3. It ensures that all citizens without distinctions of status or class are offered the best
available social services.

Which of the above statements is/are correct?

a.land Il b. I and III c. I II and IIT

d. None of the above e. Answer not known

D&HFH6IT [Heve (YD SFengll Laieumb GFweoundaseien gl uled auenSLILBEHSH60MLD:

1. SNBUTEEHSGLD GBLURSEHSSGHD, JeuTsellear  GCoumevenwiujld OCarsdHler  Fhens
wHlmULD  GUIBLLUGSSTE, GMBHILLF  UBLINISHHBEG DTF 2 SHSHJEUTHLD
QULPRIGSIBG.

2. SAPpUTEEDRSGSL GBLURSEHSGD oo &Fipsd BLTUTGEMENEF FhHHSD 256 eH6l
(peold SIF& UTHISTILeTentouiedr Sjemeneld &mBeBSBSHI.

3. Fps b0, FTHWI UTGUTGSTa SmiSSH GHQYLSSEHSSGD FBHS FpsSF
BFemouBMET QIPHIGMS DJF 2 Mg CFUISBS.

CuoBaewiL  amBuIBeiled 61gl/ eteweu  Ffluimeig)?
a. [ ommb 11 b. I @b 1T c. L II woipnd 11T
d. GuBsesi_sauBpien aemeaufleoensy €. el Oaflwalsvensd

Article that deals with prohibition of trafficking in human beings and forced labour.
a. Article 47 b. Article 17 c. Article 16

d. Article 23 e. Answer not known

welHsd SLHHMVS SHmLOFWG uBBlub, sLLTw o awliiBgsd SHeTaiubeamsd
oL O0FWIug uBBslud alamglésEh Spduwed gLt Wiley.

a. ey 47 b. fley 17 c. Ufey 16

d. \fey 23 e. alewl  Gafualsdensy

Who referred the Sarvodaya Movement Philosophy as a fuller and richer concept of
people democracy than any we have yet known?

a. Vinoba b. J.P. Narayan c. Anima Bose

d. Sankarro Deo e. Answer not known

‘BT @Fleuem] DBHHOHIL  DSHBHET WGBTS HH 6T [HENBEUTET 2 UITEUTET H(HHIHIHHEM6NH
Camewi_eney FTGauTHWT BuibddHHer CoHTLLTBH6T 616t FnnsluleuiT

a. allGermuim b. Geg.L9.BrymuIewT C. ojeior Gumerd

d. gmsCrr 19Guir e. alewL Gz fuwailsdensv

Which one of the statement is not true of “Beti Bachao Beti Padhao”. The objectives of
the schemes are?

(i) Prevention of gender biased, sex selective elimination.

(i)  Ensuring survival of the girl child.

(iii) Ensuring education and participation of the girl child.

(iv) To provide only self - employment to women.
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a. (i) and (ii) only b. (i), (ii), (iii) only c. (ii), (iii), (iv) only

d. (iv) only e. Answer not known

SpHemiL.  “Ouent GWhend UTHISTIL oBpIb seoal” (Cuily udFsnGeur Guily usTGeur)
GTUIMB FaMmled 61&H 2 ewIeniolevey: HI L HHleT CHTohBmIGeMTaIena SHLD6(HLOTBI

(i) e@m &ty urelend wBBID uTederd Osfley Suflmus HBSHDH60.

(i) Quewr GWhmsulesr aumpeney 2 MIF OCFUIHE

(iii) Quewr Gwhmssefer sHeval WLBBID LRSaIlMU 2 BB CFUIHeD

(iv) QuemiaEndE HFWOSHTH6 6uUPHIS ueueml CFUIFHe0

a. (i) wpmiw (ii) L G b. (i), (ii), (iii) LB c. (ii), (iii), (iv) L@

d. (iv) w (B e. allenL  Gafweaisvenso

scheme for prevention of trafficking and Rescue, Rehabilitation and
Reintegration of victims of trafficking and commercial sexual exploitation.
a. Vatsalya b. One stop centre c. Ujjawala

d. Kishori Shakti Yojana e. Answer not known

GWHMSBMETUID UGS SLSHHUMDHSH HBHH60, SLSHFLILILLaUTHmeT L5 6L (HEHH6V,
SLSHSIULBL  uTedwed  OFHThed FEUBSSILLL  CQUBIBEHHGL  LeiTeumpe] OBTBHH60,
106001 (HLD FepsTwSHCHT(H GUTLDEUSMBSITE GbLDEM6VL 2 (HeUTEESH60 P WUBBEF
CFWOLBHHIUSBITE 2 (HUTHSILILL S L LD

a. Vatsalya b. One stop centre c. Ujjawala

d. Kishori Shakti Yojana e. allewL G fwaiisoemnso

Action may be taken against those involved in spreading misinformation under any of
the following laws.

a. 1938 - Rule 41, 43, 44 b. 1938 - Rule 45, 46, 48

c. 1939 - Rule 41, 43, 44 d. 1939 - Rule 45, 46, 48

e. Answer not known

SPHHTEID  61HSHF FLLSHIHILIGS SHUBTRT HBHeUeD LJLLLD OFwedsaied FHUGMT O
BLOIGSHMS 61(HHS (PplQujb?

a. 1938 - @e1 algl 41, 43, 44 b. 1938 - @1 aild 45, 46, 48

Cc. 1939 - Qa1 allg 41, 43, 44 d. 1939 - @ar alg 45, 46, 48

e. allewL G flwalsvenso

Match correctly the Socio Economic indicators of Tamil Nadu and their corresponding
contribution as per 2011 census:
Economic Indicators Tamil Nadu (2011 Census)
A. Decaded Growth rate 1. 48.40
B. Sex ratio

(Female per 1000 males) 2. 946
C. Child 0-6 years

(Female per 1000 males) 3. 996
D. Urban Population Percentage 4.15.61
A B C D
3 2 1
4 1 3
4 3 2
4 2 3

e. Answer not known
2011 wEHeT CFHTDd HHOHBUILID SHODBTL 96T  Felpsll  QUTHEMTHTISH  GHMIUIL LU
Suppler umisaflemuub Filwmsll QUIHHSHALD.

o n oo
RN
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QummenmaTy  &GMui®h SODBTH (2011 Herord6sHBLILY)
A. usztem euenTFs aldlHid 1. 48.40
B. umelenr aildsid

(SLuITD SLETHEHHEG 1HHMeN  GILIGwTSHENT) 2. 946
C. aubms (0-6) UGBS

(QUUITD DLETHEHDHE 61HHM6T CILICHTIH6IT) 3. 996
D. paimiys wésset 0xTensd FHaisbd 4. 15.61

A B C D

a. 3 2 1 4
b. 4 1 3 2
c. 4 3 2 1
d. 4 2 3 1

e. allewL G flwalsvenso

191. Who is the author of the book “Social movements in India”?

a. T.K. Oman b. M.S.A. Rao c. M.N. Srinivas
d. Ram Ahuja e. Answer not known

“@hFHwraled Fepd BUISIHIH6T 61eIB  Hiredler opFfluim wm?

a. T.K. guesr b. M.S.A. gl c. M.N. nfBleumerd
d. gmb o e. alewL Gafwalsienso

192. Find the correct and / incorrect matches among the following;:

1. Article 338 - 1: National Commission for Scheduled Tribes.

2. Article 333: Representation of the people of the Anglo- Indian
Community in the Legislative Assemblies of the States.

3. Article 331: National Commission for Scheduled Castes

4. Article 330: Reservation of seats for scheduled castes and scheduled
tribes in Lok Sabha

a.1, 2,3, 4 are correct b.1, 2, 4 are correct, 3 is incorrect

c. 2,3, 4 are correct but 1 is incorrect d. 1, 3, 4 are correct but 2 is incorrect

e. Answer not known
SpdboemiauBpled o1h gilwms wBBID / Seuprsll T b ujeTens?

1. allgl 338-L0fley 1: ULDMIGI9L0SBEHSHBT CHFW HLOa96T DIHLOSHFH60

2. alg 333 mplev gLl Guyemeusaied oy EIFCe0T-EHAUIG D& EHDHSBTET
Ly SIS HSIeULD  eULPEIG 560

3. algl 331: ulpweden W&EBEHHETRN CHIW HLOOPET DIHLDGHH60

4. alg 330: LUDRIGlY @6l oBMID UL IQUIeI&T  DSHSHEHHEHTE DSBS

CaTEFHHale0 HaNHOHTGHHB6T @HIHSHH CFUIH0

a. 1,2, 3, 4 gimansain & b. 1, 2, 4 gfl, syemed 3 W B> Heuml
c. 2,3, 4 af, gemed 1 w G sy d. 1, 3, 4 Ff, gpemed 2 GO Heuml
e. alemL G fluwailsenso

193. Article 15 (4) clearly speaks about
a. Socially and educationally backward
b. Inadequate representation in backward a class service
c. Free and compulsory education
d. Weather sections of the people and includes the expression the SCs and STs

e. Answer not known
FglLudfey 15 (4) eemzll upBlsh Cpefleunsd awmmpidBg?
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a. Fpsd oB@ID Heval FHWTH LaTHmSUl 1DSHBH6NT
b. Ueismadw poHsefa SugUiLeDLWITET Liewidamentl LBBle gnpidng

C. Beveug LOBMID S LTWS Heoal

d. uluwederd, WemeVAITD SID BEID IEIGMBHS LSBT 2 6UlTe)sH6lT
e. alemL O flwalsoemnso

Which of the following is true about the Abolition of Bonded Labour System?

(i) Persons kept as bonded labour are released and rehabilitated by providing financial
assistance of Rs. 20,000.

(ii) House site pattas, drinking water and Bank loan assistance are provided to them.

a. (i) only b. (ii) only c. (i) and (ii) true

d. (i) and (ii) false e. Answer not known

UereupeuaieuBpled GamsHIem  QUIIL|(LPmBES HLSHFH60 61606 2 _6RIGNLOLITEIME  DIGU6VS
6% 2 euIenLOWITeg)?

(i) QETHIHYMIDDHENMTS meubdLILL L  BUTH6T alBeldaiul (b wreflwwors . 20,000/- Bl&
o2 gal aupmIs LBIUTDe] e MobSUILGBSBTTHENT

(i) BeaiseEnrdd LG Wl ULLT, GYBLT aFd LBBID aRSEELET 2 56|
QUPRISLILGSBSI.

a. (i) wiGw &l b. (ii) i@ &l c. (i) wppub (ii) &M

d. (i) wBpiw (i) seum e. alenL OFfwalsoensv

(i) In April 2008, Tamil Nadu Transgender Welfare Board was formed as the nodal
body to address the social protection needs of Transgender.

(ii) The Board addresses the Social Protection needs of Transgender people such as
income assistance, housing, education, employment and health care.

(iii) It is a platform to bring various section of the society and private sectors together to
discuss what can be done to address the basic needs of transgender community

Which of the above statements is/are true with regard to Transgender Welfare Board?

a. (i) only b. (i), (ii) only c. (i), (iii) only

d. (ii), (iii) only e. Answer not known

(1) @guged 2008 @ SHODBTIH  HHBEEDSHET B0  UTHWID  H(HHRIMDBDHETHSHHIT6T
FPSLILITSHISTLILS Cxpemeusenen Hlenmey (OERIEED (PpSHEW SIMLOLILITS
2 (HOUTSHBLILILL .

(i) eumeutws o Hai, afl B euFdl, ®eval, Geuemeveumuilil] LOBMID HSTHTIL LTHISTIIL CuT6s
Bxhremeumsenen H(HBHmmBHeNeT Felpsll UTHISTIIBG eumflubd Benmpey OFUISIBSI.

(i) SHmpprmasseiear SigliLmL g CoHemeusenen Henme| OCFUIL 66  GFUILIEOTD  6TeTHI
alaungHléss Fpadhdlar LeLGup Lflalaemyub, selwmT smpuleaemIubd aslenemib@d 6

FHeND @5l

F(HBHIMBHET Hev aumfluwib CHTLTUTE GCBEHMIL SnBpIseaied 6% 2 6wenio?
a. (i) (B b. (1), (i) wL @G c. (1), (iii) @B
d. @, i) w’ @G e. alewL Gafuwalsdenso

Match the following judgement with its pairs:

A class of citizens and if the caste as a whole is socially and educationally backward,
reservation can be made in favour of such a caste on the ground that it is a socially and
educationally backward class of citizens within the meaning of Art.15(4).

a. Periya Karuppan Vs State of Tamilnadu

b. M.R. Balaji Vs State of Mysore

c. P. Rajendran Vs State of Tamilnadu

d. U.S.V. Balram Vs State of Andhra Pradesh
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e. Answer not known

SpHHMIL. HTUTeneTl GUT(HHSHLIOTeT Seneuoru et BT

“grd  (PUHIDTEF Fepd LBBID  Heval  Hlemevdeled LIBLLIQMHHSTL, DTFFUIOMLOLILF
glLHar 154) Udfleler GummeT euFbLIBGLULG o&FsTH Heval LBEBID Fepd  Blensouled
LIBLUL BeTenohers &(HEH DSBGH B @HHHH OFuiuleomd”

a. Quilw s@liuet Vs SIOWMHBTG SIFs b. M.R. umeored Vs ewio@T SI5&

c. P. @ynBxpdlye Vs HI0HBTG Sips d. U.D.V. uedgmb Vs eybdr 1M8ss ois

e. allewL G flwalsvenso

197. Which of the following are/is true with reference to the impact of social movement?
(i) Social movements attempts to negotiate with State, Market and Civil Society.
(i)  The outcome of the movement could be seen interms of social, political and
economic change but not structural.
(iii) The State has the power to formulate new policies or modify existing public
policy as per the demands of the social movements.

a. (i) only b. (i) and (ii) only c. (i) and (iii) only

d. (ii) and (iii) only e. Answer not known

SPHWIL Fepd BQWHSSH FHThdHHeoTen OeuslliliLmBaefled g gfluimerensu?

(i) Fps BUSSEIHET OJF, FhMGH IOBHBID  QUTH  IDHBEHLST  FOJFD  GQFuiul
(PWB &S HIBeT.

(ii) BuSEHHH  alleneneysemen SL LWL FHWTS LTTHSTO0 Fepsh, HFFUed  LOBE@ID
QUITHENTSHTT  LOTHBBHIGEITET CLPEVLOTEHES  SHTEIIGVLD.

(iil) s BOussnseia GCamibmeseEndBaBbu LHW GCoTeaimasmer o (heuThbsGalr
SIeV6V 6I(PD CUTSHIS OBTeTensmul WIBBGET DPFiSE DIHSTID 2 _6TeNgl.

a. (i) w@w b. (i) wmmb (if) LG c. (1) wpmid (iii) o BLd

d. (ii) b (iii) wL G e. alewL  QFflwaisdenso

198. Preliminary stage in the formation of social movement is related to

a. Crucial Stage b. Unrest Stage c. Final Stage
d. On Going Stage e. Answer not known

Fpd QUISHS 2 (HUTHSHHO QYJIDLS SLLID _  GSHILTL LW

a. (PSHSWIDTET [Hlenev b. o@mwduiaimn Haew C. BuiF Beneo

d. pLBHIG Csmeigmos@d Hamev €. alml QFhfluialsdensw

199. Match correctly the States with their achievement of sustainable development goal.

A. Tamil Nadu 1. Gender equality

B. Chattisgarh 2. Zero hunger

C. Kerala 3. No poverty

D. Odisha 4. Climate Action
A B C D

a. 3 1 2 4

b. 1 2 3 4

C. 4 3 2 1

d. 2 4 1 3

e. Answer not known
THleVRIGmeT  SeuBBleasl  BlodHs  euenTsddld  GHsCareisaiear gTHmetmuls  OCsTam (B

QUTHSHHIS.

A. 5101DHT6 1. uteden FOHHIAID

B. gsgsevat 2. yeedw udl/ulgeiuleeor Henev
C. Gazenm 3. eUBIHLOUTGHTENLD
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D. qugar 4. LHOUBIE6D L aUIQHND
A B C D
a. 3 1 2 4
b. 1 2 3 4
C. 4 3 2 1
d. 2 4 1 3
e. alenL Gafweailsdenso
200. Choose the correct answer:
Assertion [A]: Development increases the quality of life.
Reason [R]: People will have higher income, better education, better health and

nutrition, less poverty.
a. Both [A] and [R] are true and [R] explains [A]
b. Both [A] and [R] are true and [R] does not explain [A]
c. [A]is correct and [R] is false
d. [A]is false and [R] is true
e. Answer not known
gilwmenr allewLenwd CHitey Gauis.
apu [A]: GuuT®h TDSMBSH SHIHMSH 2 _WTHHHDBB.
smyewid [R]:  wdsel oifsomer au@meunul, ABbs @eval, 2 60 B WHBBID 261 L FFHHI,
GmBHS QUBIMLD  CLIMBICUTTSHET.
a. [A] wppib [R] @yewiGd Filwmergl, wimin [R], [A] e aierd@HBa.
b. [A] wBgw [R] @yewiGw gfwmerg [R], [A] eeu alenésaisvenco
c. [A] sfwreng wBmd [R] Heupmerg
d. [A] saupreig wimpbd [R] gflwrers
e. allewL G flwealsenso
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